
�� ������ �����	
	

��
����� ����� �����
����

�
��
������� ������  ��������!
���"��"�����
���# ����� � �#  ����$���!

� %
����& ���
����

'()*+)*, - .�/01�/	20
��0 1�304	����5	06 2	
405570 10/�37 	
��1�40�
7 ���8��11

��9:;<=<;�9

3	

0�/�>		 5� 
�	
��5	0 �205�? 
/0�05	
3��/��� @	A	��B1�/01�/	20
�	� 5���

.�
��� - C''D



E�F�/� �7��4505� � G72	
4	/04H5�1 I05/�0 	1) J)J)K���3B
5	>75� E�

	?
��? ���301		 5���)
L@	>	�4H570
����505/7M 3��/�� @	A	��B1�/01�/	20
�	� 5���6���@0

�� �	��4�? N0��8	0�	2 O���8�6

3��/�� @	A	��B1�/01�/	20
�	� 5���6���@0

�� G4�3	1	� P��5��	2 .�Q��	56

3��/�� @	A	��B1�/01�/	20
�	� 5���6N055�3	? R��4��	2 R�������

G03�S�T
��8�5	A�>	TM P5
/	/�/ 1�/01�/	�	 	 10��5	�	 U�L EJ�

V�S	/� 
�
/�	/
T W CX Y 5�TF�T C''D 8) � ** 2) '' 1	5)
5� A�
03�5		 K	

0�/�>	�55�8� 
��0/� K''C)'(,)'* � P5
/	/�/0
1�/01�/	20
��8� 1�304	����5	T EJ� �� �3�0
�M *C('Z[ 8).�
���6
.	�

��T �4)6 3)ZJ)

\ 3	

0�/�>	0? 1�Q5� �A5���1	/H
T � F	F4	�/0�0 P.. EJ�)

J�/��0@0��/ ��A�
4�5 W Y ��/TF�T C''D 8)

U2057? 
0��0/��H K	

0�/�>	�55�8� 
��0/�

3��/�� @	A	��B1�/01�/	20
�	� 5��� �)G)V1	/�05��
C



]^_`a b`c`defcghegd` c`^iej
K	

0�/�>	T ��
�TS05� ��A��F�/�0 ���	�>	�55�8� 10/�3� ��B

/��05	T 
/���/��	����557� /�0�10�57� 
0/��6 ���	�>	�55�8�
10/�3� ��
/��05	T 
/���/��	����557� ��3�	Q57� �3��/	�57�

0/��6 ��3
/��	��kS	�
T � �
�F055�
/T1 �0l05	T6 ��A��F�/�0
��5
0���/	�5�? 
�017 ��
20/� 50
/�>	�5��57� 3��10�57� /020B
5	? 8�A� 
 �730405	01 �	1	20
��? m50�8		 5� ��3�	Q57� 
0/���
	 ��A��F�/�0 �48��	/1� ��5
0���/	�5�? 	5/0���4T>		 5� 80�
�Bm3��4H57� 
0/���)
���"
�n����n ����o .0/�37 ��
/��05	T 
20/57� 
0/�� 	5B

/05
	�5� ��A�	��4	
H � /0205	0 ��
4035	� �T/	30
T/	 40/) p/�
�F�
4��405� F�4Hl	1 2	
4�1 ��	4�Q05	?6 
�TA�557� 
 1�304	��B
��5	01 @	A	20
�	� ���>0

��) \0/�2570 10/�37 ��/	�5� 	
��4HB
A�k/
T ��	 2	
4055�1 �0l05		 A�3�2 8	3��3	5�1	�	6 m40�/��3	B
5�1	�	6 1	���m40�/��5	�	6 1�85	/5�? 8	3��3	5�1	�	6 ��	 2	
B
4055�1 1�304	����5		 �4	1�/� 	 ��0�5	20
�	� /0205	?6 � /��Q0
� 3��8	� �F4�
/T�)
R�
/��05	0 
0/�	 
�
/�	/ � ��AF	05		 @	A	20
��? �F4�
/	 5�

T20?�	) p/� ��AF	05	0 
403�0/ �
�S0
/�4T/H /��	1 �F��A�16 2/�BF7 ��4�2	/H ��� 1�Q5� /�2500 2	
4055�0 �0l05	0 @	A	20
��? A�B
3�2	) \�S0
/��kS	0 �48��	/17 ��
/��05	T 80�
�m3��4H57� 
0B
/��6 �0�4	A���5570 � �	30 ���17l40557� ���8��1157� ���3��B
/��6 50 T�4Tk/
T 5�30Q571	) G �F4�
/T� 
4�Q5�? @��176 
 10B
5TkS0?
T � ���>0

0 1�304	����5	T 80�10/�	0?6 �5	 8050�	��k/
�7��Q305570 
0/�	6 5� ��/��7� 50 ��03
/��4T0/
T ��A1�Q571
�����3	/H 1�304	����5	0 @	A	20
�	� A�3�2) R�m/�1� 
�S0
/��0/
50�F��3	1�
/H � ��A��F�/�0 5�30Q57� 	 �5	�0�
�4H57� 
0/�257�
�48��	/1�� ��
/��05	T 
0/�� 
 A�3�55�? @��1�? 80�
�m3��4H57�
T200�)
q�� ����	4�6 ��	 1�304	����5		 @	A	20
��8� ���>0

� 
�S0B


/�055�0 	 �0A��0 	A10505	0 ����10/��� ���	
��3	/ 5� 50F�4HB
l	� �2�
/��� ��

1�/�	��01�? �F4�
/	) G m/	� A�5�� 50�F��3	B
1� 
	4H5� 	A104H2�/H 
0/��6 34T /�8� 2/�F7 ��4�2	/H 2	
4055�0

+



�0l05	0 
 /�0F�01�? /�25�
/Hk) \ 3��8�? 
/���576 	
��4HA���B
5	0 �205H ��3��F5�? ���5�10�5�? 
0/�	 r���A	���5�10�5�? 
0/B
�	 � �F4�
/T� 
4�Q5�? @��17s �� �
0? �F4�
/	 ��	�04� F7 �
50�����3�55� F�4Hl	1 A�/��/�1 �0
��
�� pG.6 ��0105	 
20/� 	
��0��/	�5�? ��1T/	) R�m/�1� ��/��4H571 	 ��Q571 ��A304�1

0/�257� 10/�3�� T�4T0/
T ��
/��05	0 �3��/	�57� 
0/��6 
8�S�B
kS	�
T � A�5�� F�4Hl	� 8��3	05/�� �0l05	T @	A	20
��? A�3�2	)
J3��/	�570 
0/�	 3�4Q57 F7/H ��3�	Q571	6 0
4	 1�304	��0/
T
m��4k>	�557? ���>0

6 34T ��/���8� 
/���/��� �0l05	T 105T0/B

T 
� ��010501)
R�	 2	
4055�1 1�304	����5		 8�A�3	5�1	20
�	� /0205	? 5�

��3�	Q57� 
0/��� 50�F��3	1� 	
��4HA���/H ��5
0���/	�570 2	
B
405570 
�017 ��
20/�) \�S0
/��0/ ��/�0F5�
/H ��A��F�/�	 2	
B
40557� 
�01 ���7l055�8� ���T3�� ������
	1�>		 5� 84�3�	� �0B
l05	T�)
R�	 1�304	����5		 �0�4H57� ���
/��5
/�0557� A�3�2 2�
/�

��A5	��0/ ��/�0F5�
/H � 50��/��7? 1�105/ ��0105	 �0�0?/	 �/
��
20/� 5� �35�? 
0/�0 � ��
20/� 5� 3��8�?) K4T m/�8� 50�F��3	B
1� ��	105T/H 
�0>	�4H570 �48��	/17 ��5
0���/	�5�? 	5/0���B
4T>		)
t��nu �
v��� T�4T0/
TM
w ��A��F�/�� ���	�>	�55�8� 10/�3� ��
/��05	T 80�
�m3��4HB

57� 
0/�� � �F4�
/T� 
� 
4�Q5�? 80�10/�	0? 
 ��A1�Q5�
/Hk
�����405	T @��1�? T200� 34T 	
��4HA���5	T � �0�4H57� @	A	B
20
�	� 	 	5Q050�57� ��	4�Q05	T�x
w ��A��F�/�� ���	�>	�55�8� 10/�3� ��
/��05	T ��3�	Q57�

�3��/	�57� 80�
�m3��4H57� 
0/��6 ��3
/��	��kS	�
T � �
�F05B
5�
/T1 �0l05	T 1�304	��01�? A�3�2	x
w ��A��F�/�� 2	
4055�8� 10/�3� �0l05	T A�3�2 3��10�5�8�

50
/�>	�5��5�8� /0205	T 50�TA��8� 8�A� ��	 5�4	2		 �	1	20
��?
�0��>		 5� ��3�	Q57� 
0/���x
w ��A��F�/�� 10/�3� ��5
0���/	�5�? 	5/0���4T>		 
 �35�? 80�B


�m3��4H5�? 
0/�	 5� 3��8�k)
y�����������n �0A�4H/�/�� 3	

0�/�>		M �0A�4H/�/7 �@��1B

Z



4057 � �	30 
/��8	�6 ��	 50�F��3	1�
/	 3���A�557�6 1�/01�/	B
20
�	� �/�0�Q305	? 	 �0�4	A���557� 2	
40557� �48��	/1��) ��B
30Q5�
/H �48��	/1�� ���301�5
/�	����5� 5� 15�8	� ��	10���)
�
"��
! ������
 �
v���o G 3	

0�/�>		 ��A��F�/�5 	 �0B�4	A���5 5��7? ���	�>	�557? 10/�3 ��
/��05	T 80�
�m3��4HB

57� ��A5�
/57� 
0/�� 34T 2	
4055�8� 1�304	����5	T @	A	20
�	�
���>0

��) K4T m/�8� 	
��4HA�0/
T @�5�>	�5�46 ��034�Q0557?
\)J)P��505��z) R���A�5�6 2/� m/�/ @�5�>	�5�4 T�4T0/
T �5	�0�B

�4H5716 /)0) 
 08� ��1�SHk ��
�03
/��1 �7F��� ��1��505/��
�����4TkS08� 10/�	20
��8� /05A��� 1�Q5� ��
���	A�0
/	 4kF�0
A�3�55�0 50�7��Q3055�0 �/�F��Q05	06 �6 
403���/04H5�6 	 
0/B
��) \��?
/�� �5	�0�
�4H5�
/	 @�5�>	�5�4� ��A��4T0/ ��4�2�/H
T20?�	 
0/�	 ���	A��4H5�? A�3�55�? @��17)R�	 ��
/��05		 
0/B
�	 ��034�Q05� �10
/� 50�7��Q3055�
/	 80�
�m3��4H5�? T20?�	

 4	50?2�/71	 8��5T1	 ��/�0F���/H 50�7��Q3055�
/H 3��� *CB
8��557� T200� 
 /�0�8�4H571	 8��5T1	6 2/� 
��3	/
T � /�0F�B
��5	k ��4�Q	/04H5�
/	 �F{01�� *' /0/��m3���) \ ��1�SHk �7B
2	
4	/04H5�8� m�
�0�	105/� ����A�5� �205H 5	A��T �0��T/5�
/H
��T�405	T �7��Q30557� T200� 80�
�m3��4H5�? 
0/�	 ��	 �7��4B
505		 m/	� �
4��	?) G ����/	20
�	� ��	10��� ��
/��05	T 
0/��
��034�8�0171 ���	�>	�5571 10/�3�1 �7��4505	0 m/�8� �
4��	T
�F0
�02	��4� 50�7��Q3055�
/H 80�
�m3��4H57� 
0/��) R�
/��0B
5� ��5025�10�5�T @�5�>	T6 ������
	1	��kS�T @�5�>	�5�4 	
	10kS�T F0
��50257? F��H0� 5� 8��5	>0 15�Q0
/�� 50�7��QB
30557� *CB8��557� T200�) R� 
���505	k 
 ��034�Q055�? ��500
\)J)P��505�� ���>03���? ������
	1�>		 @�5�>	�5�4� 5� CZ /0/B
��m3���| 1	5	1	A�>	T ��

1�/�055�8� � 3	

0�/�>		 3	
��0/B
5�8� @�5�>	�5�4� A5�2	/04H5� F�400 m��5�1	25� r2	
4� 
4�8�0B
17� � 3	
��0/5�8� @�5�>	�5�4� 105Hl0 � C)Z ��A�s 	 m@@0�/	�B
5� r���>05/ ����/� 50�7��Q30557� 80�
�m3��4H57� T200� ��A��

��2/	 � D ��As) R�034�Q05� 50�F��3	1�0 �
4��	0 50�7��Q305B
}~������� ���� ������������ ������ ���������� ��������� ������� ������� � ������ ���� ����� �� ��� �  � �� ¡��¢¡���£~������� ���� ����������¤������������ ������ ¥� �¦ §�¨� ©ªª«� ©¡© ��

(



5�
/	 80�
�m3��4H5�? T20?�	6 	
��4HA�01�0 ��	 ����0��0 
0/�	
5� 50�7��Q3055�
/H 
��10
/5� 
 3�
/�/�2571	 �
4��	T1	 50�7B
��Q3055�
/	 L)G)Ul�����?¬ ) R�034�Q05 �48��	/1 �0�0��
��0B
30405	T �A4�� 
0/�	 �� 8��5	2571 ���0��5�
/T1 	 �0F��1 �FB
4�
/	) \ 	
��4HA���5	01 
��?
/� �5	�0�
�4H5�
/	 	 	5���	�5/B
5�
/	 @�5�>	�5�4� ��034�Q05 �48��	/1 ��/�8�5�4	A�>		 ����B
3	5�/57� 4	5	? 	 
8�S05	T ����3	5�/57� ���0��5�
/0? 
0/�	
� 8��5	>0 �F4�
/	6 � /��Q0 84�3��8� 
���TQ05	T ��	8��5	257�

4�0� T200� 
0/�	 � T20?��16 ��
��4�Q05571 �5�/�	 �F4�
/	)
\�A3�557? ��1�40�
 ���8��11 �F0
�02	��0/ ��
/��05	0 
0/�� 

�����405	01 @��17 80�
�m3��4H57� T200� � �F4�
/T� 
� 
4�Q5�?
80�10/�	0?)
E�A��F�/�5 	 �0�4	A���5 5��7? ���	�>	�557? 10/�3 ��
/��0B

5	T ��3�	Q57� �3��/	�57� 80�
�m3��4H57� 
0/�� 34T 2	
4055�B
8� 1�304	����5	T @	A	20
�	� ���>0

��) K4T m/�8� 	
��4HA�0/B

T @�5�>	�5�46 ��034�Q0557? \)J)P��505��1 ) \ ��1�SHk /0�B
�0/	20
��8� �5�4	A�6 ����03055�8� 34T �35�10�5�8�6 3��10�5�B
8� 	 /�0�10�5�8� 
4�2�0�6 ����A�5�6 2/� ��	 �3��/�>		 
0/�	 �
��A�7�5�? 1�5	/��5�? @�5�>		 50�F��3	1� 	
��4HA���/H @�5�B
>	�5�4 
 ­A�1���Q05571	­ ���	A��3571	 �/ 1�5	/��5�? @�5�B
>		 34T ��03�/���S05	T 
�4��7��5	T T200�) �� �
5��0 �5�4	B
A� 
��?
/� 3	
��0/57� @�5�>	�5�4�� � �35�10�5�1 	 3��10�5�1

4�2�T� ����A�5�6 2/� �5	 T�4Tk/
T 50
�84�
���5571	 10Q3� 
�BF�?6 /)0) �
�S0
/�4T01�0 
 	� ��1�SHk 
8�S05	0 
0/�	 � ��A�7��
1�5	/��5�? @�5�>		 ���	
��3	/ �� ��A5�1� �5�/�	 �F4�
/	 	
5� 00 8��5	>0) R�	 1	5	1	A�>		 3	
��0/5�8� @�5�>	�5�4� m/�
50
�84�
���55�
/H ��	��3	/ � �7��Q305	k ��	8��5	257� T200�

0/�	) J5�4�8	25�T 
	/��>	T ��A5	��0/ � ���
/��5
/�055�1 
4�B
2�0 ��	 	
��4HA���5		 
��/�0/
/�055� /�0�10�5�8� @�5�>	�5�4�
�5�/�	 �F4�
/	 	 3��10�5�8� 5� 8��5	>0) R�034�Q05 �48��	/1 
�B
84�
���55�? ��

/�5���	 �A4�� �3��/	�5�? 
0/�	 �5�/�	 �F4�
/	
®¯°����� ±��� �̄����� ������²�������� ���³�����³ ������ ´���µ��

��� �¶·��� ��������� ������� ������ � ������ ���� ���©� �� �©� �  � ��
¡¡©¢¡ª��

X



	 5� 00 8��5	>0) J48��	/1 �0�4	A���5 � �	30 ��1�40�
� ���8��116
��A��4TkS08� 
/��	/H �3��/	�570 ��3�	Q570 
0/�	 � �F4�
/T�

4�Q5�? @��176 � /�1 2	
40 
 	A105TkS0?
T �� ��0105	 8��5	B
>0?)
E�A��F�/�5 2	
40557? 10/�3 ��
20/� 3��10�57� 50
/�>	�5��B

57� 8�A�3	5�1	20
�	� /0205	? 
 �730405	01 �	1	20
��? m50�8		
5� ��3�	Q57� 
0/���) ¸	
40557? 10/�3 ��4k2�0/ � 
0FT m40105B
/7 
�017 \)q)N�3�5���¹,ºM ������
	1�>	k ����505	? 8�A���? 3	B
5�1	�	6 A��	
�557� � �	30 	5/08��4H57� A���5�� 
����505	T6 	
�0l05	0 A�3�2	 � ��
��30 ��A�7�� 34T ���030405	T ��/���� 20�0A
8��5	>7 ��3�	Q5�? T20?�	) K4T ���7l05	T ���T3�� ������
	B
1�>		 ����505	? �� ���
/��5
/�05571 ����3	5�/�16 ����10/�7
5� 
/���5�� T20?�	 
0/�	6 
4�Q�S	0 34T �72	
405	T ��/����6
5���3T/
T 
 ��1�SHk 4	50?5�? 	5/0���4T>		 �04	2	5 	A >05/��
T200� 	 
84�Q	��kS08� �48��	/1�) E�

1�/�05� A�3�2� � ��
��30
��A�7�� 34T ����505	T �	1	20
��? �	50/	�	 5� ��3�	Q5�? 
0/B
�0) J48��	/1 �0�4	A���5 � �	30 ��1�40�
� ���8��116 
 ��1�SHk
��/��7� F74	 ����03057 ��
20/7 /0205	? 8�A� 5� �3��/	�57�

0/���6 ��4k2�T 
4�2�	 /0205	? 
 30/�5�>	�5571	 ��45�1	)
E�A��F�/�5 5��7? �48��	/1 ��5
0���/	�5�? 	5/0���4T>		 
 �3B

5�? 80�
�m3��4H5�? 
0/�	 5� 3��8�k)I05/��4H5�? 	300? �48��	/B
1� T�4T0/
T A�105� ��
/��05	T �F4�
/	 �0�0
0205	T � ���
/��5B

/�0 80�
�m3��4H57� T200�6 � ��/��7� 8��5	 
�/H 4	50?2�/70 ��B
�0��5�
/	 �/���8� ���T3��6 5� ��
/��05	0 �F4�
/	 �0�0
0205	T
*CB8��557� T200� 
 /�0�8�4H571	 �4�
�	1	 8��5T1	) R�034�Q05
��/	1�4H57? �48��	/1 �0�0F��� T200� 
0/�	6 ��A��4TkS	? A5�B
2	/04H5� 
����/	/H 2	
4� ��0��>	? 	 ��01T 
20/�) R���0305 /0�B
�0/	20
�	? �5�4	A �l	F�	 	5/0���4T>		) J48��	/1 �0�4	A���5
� �	30 ��1�40�
� ���8��11 	 �503�05 � A�	5/0�0
���55�k ��8�B
5	A�>	k6 2/� ��A��4	4� ����0
/	 2	
4055�0 1�304	����5	0 �T3�
»¼��µ��� ��½� §��������¾ ����� ��������¤� ������� ��������³ ��°���¾

µ�������¾ ¤��������������¥����� �¶� ©ª¿ª� �� �«� ���� �� �� �«©¢�� �À¼��µ��� ��½�Á Â�¶Ã��������Á ~�����¥�Ä�Á ½��¾����¥�Á Å������� ¼�Å�Æ�������� Ã�°���� ���¤���Ã��³ ����� ¤�����¾ ��������� ¥�Ç ¨�µ��� ©ª« �
[



A�3�2 15�8���1��505/5�? 8	3��3	5�1	�	)
È�
�������
! ��
������n �0A�4H/�/�� 3	

0�/�>		 
�
/�	/

� 
403�kS01M
*s .0/�3 ��
/��05	T 80�
�m3��4H57� 
0/�� 1�Q0/ 	
��4HA���/HB


T � �0�4H57� 	5Q050�57� A�3�2�� 
� 
4�Q5�? 80�10/�	0? �F4�B

/	) L5 T�4T0/
T 5�30Q571 	 �F0
�02	��0/ ��
/��05	0 50�7��QB
30557� 
0/��) L
�F7? 	5/0�0
 ��03
/��4T0/ 08� 	
��4HA���5	0
� A�3�2��6 830 ���	��5� /�0F�0/
T �����4T/H @��1�? T200�) ��B��	10�6 � A�3�2�� �m��8	3��3	5�1	�	6 ��83� 50�F��3	1� 
	4H5�

8�S�/H ����3	5�/570 ���0��5�
/	 	 ��/�8�5�4	A���/H ����3	B
5�/570 4	5		 
0/�	 � 8��5	>�1 �F4�
/	 34T ��A�0l05	T ��8��B
5	257� 
4�0�) .0/�3 1�Q0/ F7/H 	
��4HA���5 � A�3�2�� 
 
	4H5�
105TkS0?
T 	 50�
/�?2	��? 8��5	>0? ��A304� 3��� 
�036 ��83�
@��1� 8��5	>7 
	4H5� 	A8	F�0/
T6 34T ��A�0l05	T A�5 50�
/�?B
2	��
/	 
 ��1�SHk 
0/�	)
Cs .0/�3 ��
/��05	T ��3�	Q57� �3��/	�57� 20/7�0��8�4H57�


0/�� � 3��10�5�1 
4�2�0 	 80�
�m3��4H57� 
0/�� � /�0�10�5�1

4�2�0 1�Q0/ ��	105T/H
T � m��4k>	�557� A�3�2�� 34T ��A�0l0B
5	T A�5 �0A��8� 	A10505	T �0l05	T 
 ��1�SHk 
8�S05	T �A4��

0/�	 ��	 
����505		 �08�4T�5�? 
/���/��7 
0/�	) E08�4T�5�T

/���/��� 
0/�	 ����S�0/ �0�4	A�>	k 2	
40557� �48��	/1�� �0B
l05	T 3	@@0�05>	�4H57� ����505	?) .0/�3 ��A��4T0/ 
/��	/H
�3��/	�570 
0/�	 � �0�4H57� �F4�
/T�6 � ��/��7� �0l�k/
T 	5B
Q050�570 	 @	A	20
�	0 A�3�2	)
+s ¸	
40557? 10/�3 ��
20/� 3��10�57� 50
/�>	�5��57� /020B

5	? 8�A� 5� ��3�	Q57� 
0/��� 1�Q0/ F7/H 	
��4HA���5 34T �0B
l05	T A�3�2 8�A���? 3	5�1	�	 ��	 5�4	2		 8��05	T 	 30/�5�>		)
Zs J48��	/1 ��5
0���/	�5�? 	5/0���4T>		 1�Q0/ 	
��4HA�B

��/H
T � /�0�10�57� A�3�2��6 830 50�F��3	1� �0�0?/	 �/ ��
20/�
5� �35�? 80�
�m3��4H5�? 
0/�0 � ��
20/� 5� 3��8�?)
� ��v
��! �
v���o E0A�4H/�/7 3	

0�/�>		 F74	 3�4�Q0B

57 5�M ÉÊÊÊ6ÊË G
0��

	?
�	� 
��0S�5	T� ­R��F4017 ��
/��0B
5	T 
0/�� 34T �0l05	T A�3�2 1�/01�/	20
��? @	A	�	­6 C'''6
C''C8)x ËÊÊ6ËÉ6ËÉÊ6ËÉÊÊ G
0��

	?
�	� ��5@0�05>	T� WÌ0��0/	B

,



20
�	0 �
5��7 	 ��5
/��	����5	0 2	
40557� �48��	/1�� �0l05	T
A�3�2 1�/01�/	20
��? @	A	�	­ ��1T/	 q)P)O�F05��6 *DD,6 C''Z6
C''X6 C'',8)x [ÍÎ ÏÐÑÑÒÓÔ-ÕÓÖÓÔ×Ñ× ÊÔÍ×ØÔ) ÙÚÛÖÜÑ) ÜÔ ÝÞß6àÜÑáÜâ
ãÜÛÜÔÜÑÜä åÔÒä)6 C'''x ÊÔÍ×ØÔ) ÝÜÔæ×Ø) WçÞèéêC''*) çÖÍÒÛÒëÓÍÒÜÔ Üæ
ìÔÒÍ×B×í×Û×ÔÍ ÓÖÖØÜîÒÛÓÍÒÜÔÑ6 ÑÖíÒÔ×Ñ ÓÔï âÓä×í×ÍÑ­6 ÙÍ)Bð×Í×ØÑñÐØò6C''*x ÝÜÔæ×Ø) ÜÔ óÐÛ×ØÒáÓí à×ÍÎÜïÑ æÜØ ÞíÐÒï ßÚÔÓÛÒáÑ6 åÔÒä×ØÑÒÍÚ
Üæ çîæÜØï6 åô6 *DD,x ,ÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÙÚÛÖÜÑÒÐÛ ÜÔ ÝÞß6
õØ×Û×Ô6 ö×ØÛÓÔÚ6 *DDDx Cï ÊÔÍ×ØÔ) ÙÚÛÖÜÑ) ÜÔ ÞÒÔÒÍ× ÉÜíÐÛ×Ñ
æÜØ ÝÜÛÖí×î éÖÖíÒáÓÍÒÜÔÑ - ðØÜñí×ÛÑ ÓÔï ð×ØÑÖ×áÍÒä×Ñ6 ßÐÒÑñÐØò6
ö×ØÛÓÔÚ6 *DDDx [ÍÎ6DÍÎ6*'ÍÎ6**ÍÎ ÊÔÍ×ØÔ) ÝÜÔæ×Ø×Ôá×Ñ ÜÔ óÐÛ×ØÒáÓí
öØÒï ö×Ô×ØÓÍÒÜÔ6 ÷ÎÒíÑÍ×Ø6 ÝÓÔÓïÓ6 C'''6 ÙÓÔ ÕÜÑ×6 ÝÓíÒæÜØÔÒÓ6 åÙé6
C''(6 ÞÜØÍÎ6 ÝØ×Í×6 öØ××á×6 C''[6 àÜÔÍØ×Óí6 ÝÓÔÓïÓ6 C''Dx *ÑÍ ÊÔÍ×ØÔ)
ÝÜÔæ×Ø×Ôá× ÜÔ ÝÞß6 ôÒÜÍÜ6 ÕÓÖÓÔ6 C'''x CÔï ÊÔÍ×ØÔ) ÝÜÔæ×Ø) éÖÖíÒ×ï
àÓÍÎ×ÛÓÍÒáÑ æÜØ ÊÔïÐÑÍØÒÓí ÞíÜâÑ6 ÝÒÜááÜ6 ÊÍÓíÚ6 C'''x DÍÎ ÊÔÍ×ØÔ)
ÝÜÔæ×Ø) ÜÔ øÚÖ×ØñÜíÒá ðØÜñí×ÛÑ6 ùÎ×ÜØÚ6 óÐÛ×ØÒáÑ6 éÖÖíÒáÓÍÒÜÔÑ6
ÝÓíÒæÜØÔÒÓ ÊÔÑÍÒÍÐÍ× Üæ ù×áÎÔÜíÜòÚ6 ðÓÑÓï×ÔÓ6 ÝÓíÒæÜØÔÒÓ6 åÙé6 C''Cx
ÊÔÍ×ØÔ) ÝÜÔæ×Ø) ÜÔ ÙáÒ×ÔÍÒìá ÝÜÛÖÐÍÒÔò ÓÔï ðÓØÍÒÓí ßÒú×Ø×ÔÍÒÓíèûÐÓÍÒÜÔÑ6 øÜÔò ôÜÔò6 C''Cx ÷ÜØüÑÎÜÖ ­öØÒï ö×Ô×ØÓÍÒÜÔM ùÎ×ÜØÚ
ÓÔï éÖÖíÒáÓÍÒÜÔÑ­.)M GI EJ�6 C''C8)6 Ë G
0��

	?
��1 
01	B
5��0 ­\���0105570 ���F4017 2	
4055�8� 1�304	����5	T­6 ��B
����

	?
�6 C''+x ÊÊÊ ÊÔÍ×ØÔ) ÷ÜØüÑÎÜÖ ÜÔ ÙáÒ×ÔÍÒæ) ÝÜÛÖÐÍ) ÓÔï
éÖÖíÒáÓÍÒÜÔÑ6 ÝÒÍÚ åÔÒä) Üæ øÜÔò ôÜÔò6 C''+x ÉÊÊ6ÉÊÊÊ .0Q3�5�B
��357� ��5@0�05>	T� ­V�F�F��	5
�	0 ���2570 ¸/05	T­6 EýþIB
G�PPÌý6 \50Q	5
�6 C''+ 	 C''(x G
0��

	?
�	� ��5@0�05>	T�
­R�	�4�35�T 80�10/�	T6 ��
/��05	0 ��
20/57� 
0/�� 	 �7
���B���	A��3	/04H570 �72	
405	T­6 GI EJ�6 .�
���6 C''Z 	 C''Xx
ZB? .0Q3�5���35�? l��40B
01	5��0 ­G5�/�	��10�570 ���>0

76
8��05	0 	 8�A���T 3	5�1	�� 3	
�0�
57� 
	
/01­6 O�4/	?
�	? 8�
)
�5	�0�
	/0/ G�0510�6 \)BR0/0�F��86 C''Z8)x É6ÉÊÊ .0Q3�5���3B
57� ��5@0�05>	T� �� 50���5��0
571 ���>0

�1 � 
��4�� 	 
/��T�
róðóÕBC''Z 	 óðóÕBC'',s6 \�1���6 C''Z6 	 J4�l/�6 C'',x ËÊÉ6ËÉ.0Q3�5���357� ��5@0�05>	T� �� G72	
4	/04H5�? .0��5	�0 	
\���0105571 R�	�4�3571 R��8��11571 \	
/01�1 rG.\RR\BC''*6 G.\RR\BC''( 	 G.\RR\BC''[s6 .�
���6 C''*8)6 J4�lB

D



/�6 C''(8) 	 C''[8)x ÊÔÍ×ØÔÓÍÒÜÔÓí áÜÔæ×Ø×Ôá× ­óÐÛ×ØÒáÓí ò×ÜÛ×ÍØÚ6
òØÒï ò×Ô×ØÓÍÒÜÔ ÓÔï ÑáÒ×ÔÍÒìá áÜÛÖÐÍÒÔò­6 GI EJ�6 .�
���6 C'',x
5� 
01	5���� GI EJ� 	1) J)J)K���35	>75�6 PR. EJ� 	1)
.)G)q0437l�6 P5
/	/�/0 .�/01�/	�	 	1) \)ÿ)\�F�40�� \L
EJ�6 P5
/	/�/0 .�/01�/	�	 	 .0��5	�	 U�L EJ�6 P5
/	/�/0
.�/01�/	20
��8� .�304	����5	T EJ�6 P5
/	/�/0 G72	
4	/04HB
5�? .�/01�/	�	 EJ�6 ôÓØíÑØÐÎ× åÔÒä×ØÑÒÍÚ6 ö×ØÛÓÔÚx øÜÔò ôÜÔò
õÓÖÍÒÑÍ åÔÒä×ØÑÒÍÚx øÜÔò ôÜÔò åÔÒä×ØÑÒÍÚ Üæ ÙáÒ×Ôá× ÓÔï ù×áÎÔÜíÜòÚ)
E�F�/� 5�3 3	

0�/�>	0? �����3	4�
H � ��1��� ���0�/�� EýBýPM ­q�5
/��	����5	0 �48��	/1�� ��
/��05	T �3��/	�57� 
0B

/�� 5� �
5��0 /0��		 8��1�5	20
�	� �/�F��Q05	?­r*DDD-C''*8)6
��3 ���0�/� DDB'*B''CXZs6 ­E�A��F�/�� �48��	/1�� ��
/��05	T
15�8�10�57� 
0/�� 	 	� ��	4�Q05	T � A�3�2�� 1�/01�/	20
��?
@	A	�	­rC''C-C''Z8)6 ��3 ���0�/� 'CB'*B''C+Xs6 ­Ì0��0/	20
�	0
�
5��7 	 �48��	/17 ��
/��05	T 15�8�10�57� 
0/��­rC''D-C'**6
��3 ���0�/� 'DB'*B''*[+sx � ��1��� ���0�/� L/30405	T .�/01�B
/	20
�	� ���� EJ� ­\���0105570 �72	
4	/04H570 	 	5@��1�B
>	�5570 /0�5�4�8		 �0l05	T F�4Hl	� A�3�2­rC''(-C''D8)s)
E0A�4H/�/7 3	

0�/�>		 	
��4HA���4	
H � 
��10
/57� 
 A���BF0Q571	 �20571	 	

403���5	T� � ß×ÖÓØÍÛ×ÔÍ Üæ àÓÍÎ×ÛÓÍÒáÑ Üæ

øÜÔò ôÜÔò õÓÖÍÒÑÍ åÔÒä×ØÑÒÍÚ røÜÔò ôÜÔò Ï×Ñ×ÓØáÎ öØÓÔÍ ÝÜÐÔáÒí6
ðØÜ�×áÍ áÜï× øôõå C'Z(�'Cð ÓÔï øôõå C'*�'+ðs6 ÊÔÍ×ØÔÓÍÒÜÔÓíÏ×Ñ×ÓØáÎ ù×ÓÛ ÜÔ ÝÜÛÖí×î ÙÚÑÍ×Û6 ÝÎÒÔ×Ñ× éáÓï×ÛÚ Üæ ÙáÒ×Ôá×Ñ)
È"v���
���o L
5��570 �0A�4H/�/7 ���F4	����57 � *Z �0>05B

A	��017� Q��5�4H57� 
/�/HT�6 �0��1053���557� GJq6 C �0>05B
A	��017� Q��5�4H57� 
/�/HT�6 C 1�5�8��@	T� r+ ��F�/7s6 Z ��0B��	5/�� GI EJ�6 D 
/�/HT� � /��3�� �
0��

	?
�	� 	 A���F0Q57�
��5@0�05>	?6 C( ��F4	��>	T� /0A	
�� 3��4�3�� 5� �
0��

	?
�	�
	 A���F0Q57� ��5@0�05>	T�)

���"��"�
 � �v��� �
v���o K	

0�/�>	T 
�
/�	/ 	A ��030B
5	T6 Z 84��6 A��4k205	T 	 
�	
�� >	/	��01�? 4	/0��/��7) K	
B

0�/�>	T 
�30�Q	/ CX( 
/��5	>6 � �FS0? 
4�Q5�
/	 *'C �	
�5��
	 , /�F4	>) \�	
�� >	/	��01�? 4	/0��/��7 
�30�Q	/ C'X 5�	10B
5���5	?)

*'



�i�fc�`�gf c`^iej
�������� 
�30�Q	/ ���/�	? �FA�� �0A�4H/�/�� �� ���	�>	�5B
571 10/�3�1 ��
/��05	T 
/���/��	����557� 
0/��6 ��3�	Q57�
�3��/	�57� 
0/��6 10/�3�1 ��
20/� /0205	? 8�A� 
 �730405	01
�	1	20
��? m50�8		 	 10/�3�1 ��5
0���/	�5�? 	5/0���4T>		)
J48��	/17 ��
/��05	T 
0/�� ��A��F�/7��4	
H � ��F�/�� ��
B


	?
�	� �2057� \)q)N�3�5���6 N)R)R��������6 �)�)þ505��6
J)ý)\	3�����6 J)J)\�1��
��8�6 \)J)P��505��6 G)K)ÿ	
0?�	5�6
�)�)q�4	/�	5�6 ÿ).)K08/T�0��6 J)J)¸����2HT5�6 L)G)Ul���B
��?6 G)P).�Q��	5�6 G)ý)Ì	l�	5� 	 3�)6 	5�
/��5571	 	

403�B
��/04T1	 - é)÷ÒÔÑíÜâ6 Õ)Þ)ùÎÜÛÖÑÜÔ6 �)å)é) ÷ÓØÑÒ6 Ý)÷)àÓÑÍÒÔ6
ð)Ï)èÒÑ×ÛÓÔ6 ð)ã)ö×ÜØò×6 ð)ôÔÐÖÖ6 ö)ãÒÓÜ6 	 3�)
G 3	

0�/�>		 ��

1�/�	��k/
T 
/���/��	����5570 
0/�	) K4T

5	� ����T3�2	��5	0 �A4�� A�3�0/
T ���
/0?l	1 �F��A�16 ��
�03B

/��1 1�/�	>7 
 3��1T 	530�
�1	 � 3��10�5�1 
4�2�0 	 1�/�	>7

 /�01T 	530�
�1	 � /�0�10�5�1) þ20?��1	 
/���/��	����55�?

0/�	 T�4Tk/
T 20/7�0��8�4H5	�	 � 3��10�5�1 
4�2�0 	 l0
/	B
8��55	�	 r80�
�m3�7s � /�0�10�5�1)
V� ��F0Q�1 
�A3�5� F�4Hl�0 2	
4� ���17l40557� ��110�20B


�	� ���8��1157� ���0/�� 34T ��
/��05	T 
0/��) \403�0/ �/10B
/	/H6 2/� 
�S0
/��kS	0 �48��	/17 ��
/��05	T 
/���/��	����5B
57� /�0�10�57� 
0/��6 5� ��/��7� ������
	1�>	T 3	@@0�05>	B�4H57� ����505	? �
�S0
/�4T0/
T 5�	F�400 0
/0
/�05571 �F��B
A�16 50 T�4Tk/
T 5�30Q571	 	 � 
4�Q57� �F4�
/T� 8050�	��k/
�7��Q305570 T20?�	) \�S0
/��0/ /��Q0 ��/�0F5�
/H � 
0/�257�
�48��	/1�� 
 ��A1�Q5�
/Hk �����405	T ����3	5�/571	 4	5	T1	
	 ���0��5�
/T1	 
0/��) Ì��	1 �F��A�16 34T ����0305	T 1�/01�B
/	20
��8� 1�304	����5	T 
�S0
/��0/ 50�F��3	1�
/H 3�4H50?l08�
��A�	/	T �48��	/1�� ��
/��05	T 
/���/��	����557� 
0/��)
G� ��0305		 ����A�5� ��/��4H5�
/H 	 ����/	20
��T A5�2	1�
/H

��F�/76 
@��1�4	����57 >04	 3	

0�/�>		)
G 3	

0�/�>		 ��

1�/�	��k/
T ���	�>	�5570 10/�37 ��
/��B

05	T 
0/��) p/	 10/�37 	
��4HA�k/
T ��	 ��
/��05		 
0/��6 �3�B
**



�40/���TkS	� �T3� /�0F���5	?) \�03	 5	� 50�7��Q3055�
/H6
84�3��
/H6 ���A	���5�10�5�
/H6 ���A	��/�8�5�4H5�
/H 	 3�) E�AB
�	/	0 ���	�>	�557� 10/�3�� �030/ 
��0 5�2�4� � �35�10�5�1

4�2�0 
 ��F�/7 J)ý)\	3�����	 	 � 3��10�5�1 
4�2�0 
 ��F�/
\)q)N�3�5���6 N)R)R��������
 	 é)÷ÒÔÑíÜâ� )
G ���	�>	�557� 10/�3�� 50�7��Q3055�T 
0/�� 
/��	/
T 
 ��B

1�SHk 8�10�1��@5�8� �/�F��Q05	T ����10/�	20
��? �F4�
/	 P	A ���
/��5
/�� �0�010557� ξ=(ξ1, . . ., ξn) r� 3��10�5�1 
4�2�0
m/� ��T1��8�4H5	�6 � � /�0�10�5�1 - ��T1��8�4H57? ����440B
40�	�03s 
 A�3�55�? ���3��/5�? r��F	20
��?s 
0/��? 5� @	A	20B

��k �F4�
/H Ω 	A ���
/��5
/�� �0�010557�

x=(x1, . . ., xn)
) �
4	

�/�F��Q05	0
x(ξ) :P→Ω 
����5T0/ ��	05/�>	k6 /)0) �5� 84�3��0

	 T��F	�5 �/�F��Q05	T J=detx′(ξ) 
����5T0/ A5�� �
k3� � P 6 /��5� 1�Q0/ 	
��4HA���/H
T /��Q0 	 34T ��
/��05	T ��	��4	50?B
5�? 
	
/017 ����3	5�/) \��/�0/
/�055� 	A5�2�4H5� 
/��	4�
H A�B
3�2� ��	
�� /��	� @�5�>	�5�4�� r	4	 
��/�0/
/��kS	� 	1 3	@B@0�05>	�4H57� ����505	?s6 2/�F7 @�5�>		 3�
/��4TkS	0 	1
1	5	1�1 rT�4TkS	0
T �0l05	01 3	@@0�05>	�4H57� ����505	?s
�F0
�02	��4	 8�10�1��@5�0 84�3��0 �/�F��Q05	0 ����10/�	20B

��? �F4�
/	 P 5� @	A	20
��k �F4�
/H Ω

)
K4T 3��10�5�8� 
4�2�T 
�84�
5� /0��010 E�3 
� r
@��1�4	��B

��55�? ÏÓï 
Ü� 	 3���A�55�? ôÔ×Ñ×Øz�s 8��1�5	20
��0 �/�F��Q05	0
�35�
�TA5�? �8��5	2055�? �F4�
/	 Ω1

5� �35�
�TA5�k �8��5	205B
5�k �7���4�k �F4�
/H Ω2

T�4T0/
T 3	@@0�1��@	A1�1 ��	 �
4�B
�		 A�3�55�8� 8�10�1��@	A1� 8��5	>7 ∂Ω1

5� ∂Ω2

) R�
��4H�� �
�FS01 
4�2�0 @	A	20
��T �F4�
/H Ω 50�7���4�T6 /� ��

1�/�	B

�������� ��´� ±¶ ����� ��¤������ ������� ����������³ ���������³ ����������� ¥����� ����� �¨ ���§� ¥� ©ª  � �� «�� �� ©�«¢©¿©��¼��µ��� ��½�Á Å������� ¼�Å� ± �������³ ���������³ ���¶��²���¾ � ����������� ���������³ ��������� ������� ������ � ������ ���� ©ª «� �� «� �¿� �� ©��©¢©�¿ª��������� ���� ��� !�"#� ����$��� �% $& '�#������ #! (������  '�#$��� �� #
������%�!� $!�#�)� � �&��*� +��Ã�$� (&,�� ©ª  � -� ©� (� ©�ª¢©«��./#0 1� 2� ��%)#3 �©Á *#&! �3 !��4 �$�"& �#$&��- ! ��� ©ª� � -� �¿� (� �ª�}56� � ! 7�Á 89����) 0 ! ��%)#3 �©Á *#&! �3 !��4 �$�"& �#$&��- ! ��� ©ª� �
-� �¿� (� ©��¢©��� *C



��k/ 8��1�5	20
��0 �/�F��Q05	0 ξ(x) : Ω→P 6 830 P - ����10/�	B
20
�	? ��T1��8�4H5	� 
 A�3�55�? ���3��/5�? 
0/��?) K4T m/�8�
�/�F��Q05	T �
4��	T /0��017 E�3 
� �7��45057) K4T ��
/��05	T

0/�	 � @	A	20
��? �F4�
/	 Ω

�����3	/
T A�105� �0�010557�6
����505	T ÿ��4�
� �F��S�k/
T 	 �0l�0/
T ���0��T A�3�2� 34T
���A	4	50?5�? 
	
/017 3	@@0�05>	�4H57� ����505	? 
 
��/�0/B

/��kS	1	 8��5	2571	 �
4��	T1	 34T 5���Q305	T �F��/5�8�
�/�F��Q05	T

x(ξ) :P→Ω
) G 4	/0��/��0 	
��4HA���5	0 m/�? 
	
/0B

17 ����505	? 34T ��
/��05	T 
0/�� ��	5T/� 5�A7��/H 10/�3�1
÷ÒÔÑíÜâ8

) p/�/ ��3��3 �F0
�02	��0/ ��4�205	0 50�7��Q30557�

0/�� 34T 3���4H5� l	����8� �4�

� �F4�
/0?) G 
	4� 	A�0
/57�

��?
/� ����505	? ÿ��4�
� ����3	5�/570 4	5		 ��	��4	50?5�?

0/�	 ��4�2�k/
T 84�3�	1	6 � 
�1� 
0/�� ���A	���5�10�5�?)
L35���6 ����/	�� ��
/��05	T 
0/�� ����A�4�6 2/� 34T �F4�B


/0? 
 84�3�	1	6 5� 	A�85�/71	 8��5	>�1	 r
1) ôÔÐÖÖzz 	 :*;s
	
��4HA���5	0 �F��S0557� ����505	? ÿ��4�
� 50 �F0
�02	��0/
��4�205	0 50�7��Q30557� 
/���/��	����557� 
0/�� ��	 ��A�1B
5� ��	01401�1 34T ����/	20
�	� �72	
405	? ��4	20
/�0 T200�

0/�	6 � ��20
/�� 50�7��Q30557� 
0/�� T�4T0/
T 50�3��40/���	B
/04H571 :*;) R�	2	5� �7��Q305	T 
0/�� 
�
/�	/ � �l	F��� ��B����
	1�>		 ���A	4	50?57� 3	@@0�05>	�4H57� ����505	?6 ��B
/��70 
�S0
/�055� ��A��
/�k/ � 
4�2�0 
	4H5� 	A�85�/7� 8��B
5	> �F4�
/	 :*;) �
4	 Q0 8��5	>� 
�30�Q	/ 5�����405570 �5�/�H
�F4�
/	 	A4�176 /� ��	 4kF�? 
/0�05	 	A104H205	T 
0/�	 20/7B
�0��8�4H570 T20?�	 �7��Q3�k/
T � ���0
/5�
/	 5�����40557�
�5�/�H �84��2

) K4T ��
/��05	T 50�7��Q30557� 
0/�� � 3��10�B
57� �F4�
/T�6 
�
/�TS	� 	A 20/7�0��8�4H57� T200�6 F74 ��034�B
Q05 ���	�>	�557? F��H0�57? 10/�3z| )
K��8�? ��Q5�? A�3�20? T�4T0/
T 3���45	/04H57? ��5/��4H A�

����3	5�/571	 4	5	T1	 
0/�	6 	571	 
4���1	6 A� @��1�? T200�)
}}6��ÃÃ(�Á 8�"<#=/� 2!��"#$���  !!�! �� )!�0 ) � !#$���Ç # "#� �$�0,Á

��� !�"#� � $&�0� %�! (#!$�#� 4�> ! �$�#� ?'�#$����� ©ªª¿� -� ©©� (� ¿ ©¢¿«©�}£~������� ����Á Æ�Ã�³�������� ½Ã�������¾��� ����� �� ���µ���³ �����Ã�³µ¤������������ ������� ������ � ������ ���� ©ª¡¡� � �¡� � �� �� ¿��¢¿©��
*+



K4T m/�8� ���3	4�
H A�105� ����3	5�/ � ����10/�	20
��? �F4�B

/	 P7,z¬) V�105� ����3	5�/ � ����10/�	20
��? �F4�
/	 P 	5�83�
�3�F5� ��03
/��4T/H � �	30 	
��4HA���5	T ��	��4	50?5�? 
0/�	
� ��5�5	20
��? �F4�
/	 C r�10
/� ���3��/5�? � P s 	 �/�F��Q�/H00 5� �F4�
/H Ω r
1) ùÎÜÛÖÑÜÔz¹s)
Ì�0�10�57? 
4�2�? ���A�4
T A5�2	/04H5� 
4�Q500 3��10�5�8�)

�0���
/71 T�4T0/
T �����
 � 5���Q305		 �
4��	?6 ��	 ��/��7�
	

403�01�0 84�3��0 �/�F��Q05	0 T�4T0/
T 8�10�1��@	A1�1) ��B��	10�6 34T 8��1�5	20
�	� �/�F��Q05	? /0��01� E�3 
� 50 �F�FB
S�0/
T 5� /�0�10�57? 
4�2�?zº,z	 )
R�m/�1� 34T ��
/��05	T 8�10�1��@5�8� �/�F��Q05	T �F4�
/	

P 5� �F4�
/H Ω � 3	

0�/�>		 	
��4HA�0/
T 
403�kS	? ��3��3)
N4�F�4H5�0 8�10�1��@5�0 �/�F��Q05	0

x(ξ) :P→Ω 	S0/
T � �	30

�40?�	 84�3�	� 8�10�1��@57� �/�F��Q05	?

xi(ξ) ��Q3�? ��F	B20
��? T20?�	 Pi
	A �F4�
/	 P 5� 80�
�m3��4H5�k T20?�� Ωi

	A
�F4�
/	 Ω

)
@�
�
 A 3	

0�/�>		 ��
�TS05� ��	
�5	k ���	�>	�55�8� 10/�B

3� ��
/��05	T 80�
�m3��4H57� 
0/��) L
5��570 �0A�4H/�/7 ���FB
4	����57 � :X; rÕ)ÝÜÛÖÐÍ)ðÎÚÑ)6 C''Xs6 :CD; rR�0��	5/ GI EJ�6
C''Xs6 :C; r.�/01�/) .�304	����5	06 C'',s6 :*[; rp5>	�4��03	T
5	A��/01�0��/��5�? �4�A176 C'',s)
G �
����� AoA 3�0/
T ���030405	0 50�7��Q3055�? 
0/�	6 ��5B


/��	��01�? 
 ��1�SHk �/�F��Q05	T
x(ξ) :P→Ω

����10/�	20B

��? �F4�
/	 P 5� @	A	20
��k �F4�
/H Ω

)
G �
����� AoB ��	�03057 ���	�>	�55�T ��
/�5���� A�3�2	 ��B


/��05	T 
0/�	 	 @�5�>	�5�4 D � nB10�5�1 
4�2�06 ��034�Q05B
}®¼��µ��� ��½�Á Å������� ¼�Å� ±¶ ������������� �����²��³ ����� � ¤���������������³ �������³���� ������� ������ � ������ ���� ©ª«�� �� ©� � ��

�� ��ª¢����}»2&��Ã��� *�C�Á�#!�� D�E���Á�#�$��ÁF������ !�"#� G!�0 G � !#$������!$&�
7���#�0Á ��H�  $"� ©ª¡¿�}À8��7�Á 8�#� G� � ��$ �� &#!����" �#Ã����ÃÃ�� �#$&� 8 $$� ©ªª � -� ª� �
�� (� ª¿¢ª«�}�8#�) � �/�I� J�K "$�L�$, "#� %#�� %�! &�)& !�0�� �����#� &#!����"  M$ ���������+��Ã� M -#!�#3� �� ©ªª � -� �¡� (� �¿«¢� ª�

*Z



57? \)J)P��505��1 )E�

1�/�	��0/
T 8�10�1��@5�06 �4�

�
C

1 6 �/�F��Q05	0
x(ξ) :

R
n→R

n ����10/�	20
��? �F4�
/	 P 	A ���
/��5
/�� �0�010557�
ξ=(ξ1, . . . , ξn) r��F 	4	 ��T1��8�4H57? ����44040�	�03s 5� @	B
A	20
��k �F4�
/H Ω 	A ���
/��5
/�� �0�010557�

x=(x1, . . . , xn)
)

G �F4�
/	 P A�3�5� ��F	20
��T 
0/��) E�

1�/�	��0/
T 3���45	B
/04H5�0 8�10�1��@5�06 �4�

�

C
1 6 �/�F��Q05	0

X(ξ) : R
n→R

n �FB
4�
/	 P 5� ��5�5	20
��k �F4�
/H C 	A ���
/��5
/�� �0�010557�
X=(X1, . . . , Xn)

) �� �	
) * ����A�5 
4�2�? n=3
)

ξ1

ξ2

ξ3

X1

X2

X3

x1 x2

x3

X(ξ)

x(ξ)

C

P

Ω

E	
) *) \4�2�? n=3
) P - ����10/�	20
��T �F4�
/H 
 ��F	20
��?


0/��?6 C - ��5�5	20
��T �F4�
/H6 Ω - @	A	20
��T �F4�
/H)
K4T �/�F��Q05	?

x(ξ) 	 X(ξ) 10/�	20
�	0 /05A��7 A�3�k/
T

*(




403�kS	1 �F��A�1

gij =
n

∑

l=1

∂xl

∂ξi

∂xl

∂ξj
, Gij =

n
∑

l=1

∂X l

∂ξi

∂X l

∂ξj
, i, j = 1, 2, . . . , n .

Gij
5�A7��0/
T �����4TkS	1 10/�	20
�	1 /05A���16 ��
��4H��

�/�F��Q05	0
X(ξ) A�3�0/
T 
 >04Hk 3���45	/04H5�8� �����405	T

@��1�? T200� 
0/�	)
K4T ��5
/��	����5	T �/�F��Q05	T 	
��4HA�k/
T 	5���	�5/7

/05A��� G−1g rG−1
- ��5/����	�5/57? /05A��s

I1=tr(G−1g), In= det(G−1g) .

G @�5�>	�5�40 F0�0/
T 5��1	����55�0 F0A��A10�5�0 �/5�l05	0
	5���	�5/�� I1

� In
6 ��/���0 	5/08�	��0/
T �� nB10�5�? �F4�
/	

P r
1) \)J)P��505��1s

D(x(ξ)) =

∫

· · ·
∫

P

I
n/2

1

I
1/2
n

dξ1. . .dξn =

=
1

nn/2

∫

· · ·
∫

P

(
ÍØ(G−1g))n/2

√
detG√

det g
dξ1. . .dξn.

r*s

E�

1�/�	��0/
T 
403�kS�T ���	�>	�55�T ��
/�5���� A�3�2	 ��B

/��05	T 
0/�	)

NOPQROST UPVPWP XYSOZY[\RT ]Y^[Y^YZ_\Y]Y` abPSSP C
1 ` YOYcd

ZPe[\RT
x(ξ) : Rn→R

n XPZP^[OZRW[SaYf YcbPSOR P \P _RURW[d
Sagh YcbPSOi Ω XZR UPVP\\Y^ YOYcZPe[\RR ]ZP\Rj YcbPSO[fk
lSgm[SOQbThmR[ YOYcZPe[\R[ _g\ajRR x(ξ) \PnYVTOST Q Z[d
UgbiOPO[ ^R\R^RUPjRR _g\ajRY\PbP opq` ]V[ Gij(ξ) r sb[̂ [\Ot
SR^^[OZRW\Yf XYbYeRO[bi\Y YXZ[V[b[\\Yf ^POZRjt` UPVP\\Yf
Q aPeVYf OYWa[ P k
.0/�	20
�	? /05A�� Gij

A�3�0/
T 4���4H571 �/�F��Q05	01
��3�F4�
/	 	A P 5� �F4�
/H 	A ���
/��5
/�� �0�010557� X1, X2,

. . . , Xn ) G 2�
/5�1 
4�2�0 �/�F��Q05	01 �F4�
/	 P 5� �F4�
/H C )*X



ý�5�>	�5�4 r*s 	5���	�5/05 �/5�
	/04H5� 50�7��Q30557� ��B
��3	5�/

x
	

X
)

\403�0/ �/10/	/H6 2/� 	30T 	
��4HA���/H �/5�l05	0 	5���	�5B
/�� 10/�	20
��8� /05A��� � ��375/08��4H5�1 �7��Q05		 ��	5�3B
40Q	/ G)K)ÿ	
0?�	5�z
,z� )
G �
����� Aou ��	�0305 @�5�>	�5�4 D 34T /�0�10�5�8� 
4�B

2�T) R���A7��0/
T6 2/� D T�4T0/
T �5	�0�
�4H571 @�5�>	�5�B
4�16 ��
��4H�� 
�0>	�4H571 A�3�5	01 �����4TkS08� 10/�	20B

��8� /05A��� Gij

6 1	5	1	A	��T D 6 1�Q5� ��
���	A�0
/	 4kF�kA�3�55�k 50�7��Q3055�k 
0/��) \��?
/�� �5	�0�
�4H5�
/	 D1�Q0/ F7/H 	
��4HA���5�6 5���	10�6 � 
4�2�0 ��
/��05	T F4�25�B

/���/��	����557� 
0/��) q���3	5�/570 4	5		 
0/�� 
�
035	�
F4����6 A�3���017� ��A571	 �/�F��Q05	T1	6 1�Q5� 84�3�� 
�B��T8�/H ��
/0�05571 	A10505	01 �����4TkS08� 10/�	20
��8�
/05A��� Gij

� ���0
/5�
/	 8��5	>7 ��A304� F4����) G7�	
�57
����505	T p?40�� 34T @�5�>	�5�4� D )K�
/�/�25�0 �
4��	0 50�7��Q3055�
/	 ��A5�
/5�? 
0/�	 ��	�0B
305� � �
����� Aov 	 
�
/�	/ � 
403�kS01z� ) R�	 A�3�55�1 �/�FB
��Q05		 8��5	>7 �F4�
/	 ∂P 5� ∂Ω6 0
4	 8��5	>� ��Q3�8� m40B105/� 
0/�	 ∂Pi

rPi
- ��F � �F4�
/	 P s6 8�10�1��@5� �/�F��Q�0/B
T 5� 8��5	>� m40105/� ∂Ωi

rΩi
- 80�
�m3� � �F4�
/	 Ωs 	 34T �
0�m40105/�� T��F	�5 Ji

�/�F��Q05	T
xi(ξ) :Pi→Ωi

��4�Q	/04056 /�B
83� 84�F�4H5�0 ��
�25�B84�3��0 �/�F��Q05	0 x(ξ) :P→Ω T�4T0/B

T 8�10�1��@	A1�1) \403���/04H5�6 50�F��3	1� 	10/H �
4��	T
50�7��Q3055�
/	 80�
�m3��4H5�? T20?�	)
G �
����� Aow ��	�03057 �
4��	T 50�7��Q3055�
/	 80�
�m3B

��4H5�? T20?�	6 A�3���01�? 
 ��1�SHk /�	4	50?5�8� �/�F��B
Q05	T 03	5	25�8� ��F� 0≤ξ1, ξ2, ξ3≤1 	A ����10/�	20
��8� ���B
}�x���¾�����y� ± ���������� ���µ��µ���������³ ����� �� �������³ ������³�����³���� ������� ������ � ������ ���� ©ªª©� �� �©� � ©©� �� © «�¢© ¡��}�8�� �=�� -�4� G!�0 G � !#$��� � $&�0�� IÃ!��) !�- !�#)� � � H�!=� ©ªªª�}.z�¶���� ¨���Á ~������� ����Á ½��µ������� ± �µ������¤�����³ ¤�����������³ ���¶��²����³ �¤���������³ �¶�����¾ � �³ �����²����³ � ������

��������� ������� ������ � ������ ���� ����� �� ��� �  � �� ¡�¡¢¡©«�
*[




/��5
/��

r=(1 − ξ3){ξ1[(1 − ξ2)r2 + ξ2
r3] + (1 − ξ1)[ξ2

r4 + (1 − ξ2)r1]}+
+ξ3{ξ1[(1 − ξ2)r6 + ξ2

r7] + (1 − ξ1)[ξ2
r8 + (1 − ξ2)r5]}, rCs

830
ri=(xi, yi, zi)

- ����3	5�/7 �0�l	5 T20?�	 r
1) �	
)C�s) �0�7B
��Q3055�
/H T20?�	 �A5�2�0/ ��4�Q	/04H5�
/H T��F	�5� �/�F��B
Q05	T rCs

J=rξ1 ·(rξ2×rξ3) > 0 r+s
�
k3� � ����10/�	20
��1 ��F0) K� 5�
/�TS08� ��0105	 50 ��B
4�205� r	6 ��B�	3	1�1�6 50 
�S0
/��0/s �
4��	T6 ��/���0 T�4TB
0/
T �35���01055� 50�F��3	171 	 3�
/�/�25716 �F0
�02	��kS00
50�7��Q3055�
/H 80�
�m3��4H5�? T20?�	3

)

1

2
3

4

5

6

7

8

{|}

1

2
3

4

5

6

7

8

1

2 3

4

5

6

7

8

{~} {�}
E	
) C) N0�
�m3��4H5�T T20?�� r�s A�105T0/
T 5� 3�� *CB8��55	���0���8� rFs 	 �/���8� r�s /	�� 
 /01	 Q0 �0�l	5�1	)

R�034�8�k/
T 
403�kS	0 �
4��	T 50�7��Q3055�
/	 80�
�m3B
��4H5�? T20?�	) N0�
�m3��4H5�T T20?�� A�105T0/
T 5� 3�� *CB
8��55	�� �0���8� 	 �/���8� /	�� 
 /�0�8�4H571	 8��5T1	 r
1)
�	
)Cs) q�Q37? *CB8��55	� 
�
/�	/ 	A ( /0/��m3���) �3	5	257?����10/�	20
�	? ��F ��AF	��0/
T 5� *' F�A	
57� /0/��m3��� ��B
3�F5� ��AF	05	k 3��� *CB8��55	��� r
1) �	
)CF6�sM , �84��7� /0/B
��m3��� ��	 �0�l	5�� ��F� 	 C �5�/�055	�) Ì�	4	50?5�0 �/�FB
��Q05	0 rCs A�105T0/
T 5� 5�F�� 4	50?57� �/�F��Q05	?

r
h(ξ)

*'
F�A	
57� /0/��m3���6 5� ��/��70 ��AF	��0/
T ����10/�	20
�	?

*,



��F6 5� 
��/�0/
/��kS	0 /0/��m3�76 	A ��/��7� 
�
/��4057 3��
*CB8��55	��) U
4��	0 50�7��Q3055�
/	 T20?�	 r+s A�105T0/
T 5�
�
4��	0 50�7��Q3055�
/	 *' 4	50?57� �/�F��Q05	?

r
h(ξ)6 /)0)50�7��Q3055�
/	 3��� *CB8��55	���) p/� ���5�
	4H5� �
4��	k��4�Q	/04H5�
/	 �F{01�� *' /0/��m3���6 5� ��/��70 ��AF	��k/B


T *CB8��55	�	) �0
1�/�T 5� /�6 2/� 34T �/304H5� �AT/�? T20?�	
15�Q0
/�� 50�7��Q30557� 80�
�m3��4H57� T200� 50 
����3�0/ 

15�Q0
/��1 50�7��Q30557� *CB8��55	���6 ����/	�� ��
/��05	T

0/�� ��034�Q05571 � 3	

0�/�>		 10/�3�1 ����A�4�6 2/� m/�
�
4��	0 �F0
�02	��0/ 50�7��Q3055�
/H 80�
�m3��4H5�? 
0/�	)
R�	��3	/
T �T3 50�F��3	17� �
4��	? 50�7��Q3055�
/	 80�B


�m3��4H5�? T20?�	) ¸�
/H 	A 5	� ��

1�/�	��4�
H L)G)Ul���B
��?3

) R�034�Q05� 50�F��3	1�0 �
4��	0 �UZ6 ��/���0 
�
/�	/ �
����0��0 A5��� T��F	�5� �/�F��Q05	T rCs 5� �/�0A���6 
�03	5TB
kS	� 
��/�0/
/��kS	0 /�2�	 ���/	����4�Q57� 8��50? 80�
�m3B
��4H5�? T20?�	6 ��AF	/7� 5� 10×10 20/7�0��8�4H5	���6 ��	 /�12/� ��Q3�T 8��5H ����10/�	20
��8� ��F� ��AF	��0/
T 5� 10×10���3��/��) R�
��4H�� �3�4H ��Q3�8� �/�0A�� J 0
/H ���3��/	2B
5�T @�5�>	T �35�8� ����10/�� ξi 6 /� A5�T A5�205	T J 5� ��5>��
	 ��
0�03	50 �/�0A��6 408�� ���0304	/H ��	5	1�0/ 4	 �5 �/�	>�B
/04H570 A5�205	T 5� �
01 �/�0A�0) p/� 50�F��3	1�0 �
4��	0 �10B

/0 3�
/�/�2571 �
4��	01 C 	A ��F�/7 L)G)Ul�����?3

��	105TB
0/
T 34T ����0��	 50�7��Q3055�
/	 ��
/��055�? 80�
�m3��4H5�?

0/�	)
G �
����� Ao� 3	
��0/	A�>	T @�5�>	�5�4� D � ��Q3�? 80�
�Bm3��4H5�? T20?�0 �
�S0
/�4T0/
T �
�03505	01 08� ������
	1�B

>	? 5� *' F�A	
57� /0/��m3���) G �0A�4H/�/0 ��4�2�0/
T 3	
��0/B
57? �5�4�8 @�5�>	�5�4�6 ��A5�
/5�T @�5�>	T Dh )
G �
����� Ao� ��	
7��0/
T ���A	5Hk/�5��
��T ���>03��� 1	B

5	1	A�>		 3	
��0/5�8� @�5�>	�5�4� Dh ) G 1�/�	>0 �/��7� ���B
	A��357� �30�Q	��k/
T /�4H�� 3	�8�5�4H570 m40105/76 2/� A5�B
2	/04H5� 
����S�0/ ��01T �72	
405	?) �0�F��3	170 34T m/�B
8� ��
20/570 @��1�47 ��	��3T/
T � �
����� Ao�) .	5	1	A�B
>	T @�5�>		 Dh T�4T0/
T A5�2	/04H5� F�400 m��5�1	25�? 	

*D



m@@0�/	�5�? ���>03���? �� 
���505	k 
 ��034�Q055�? ��500
\)J)P��505�� ���>03���?6 	
��4HA�kS0? ������
	1�>	k @�5�B
>	�5�4� 5� 3��8�1 15�Q0
/�0 CZ F�A	
57� /0/��m3���2 )
G �
����� Ao� ����A7��0/
T6 2/� Dh 	100/ F0
��50257? F��H0�

5� 8��5	>0 15�Q0
/�� 50�7��Q30557� 
0/��6 
�
/�TS	� 	A *CB
8��557� T200� �0���8� 	4	 �/���8� /	��) O��H0�5�0 
��?
/�� 3	
B
��0/5�8� @�5�>	�5�4� ��0��70 � 3��10�5�1 
4�2�0 F74� 	
��4HB
A���5� \)J)P��505�� 	 J)J)̧ ����2HT5�112 6 � � /�0�10�5�1 
4�B
2�0 \)J)P��505��2 )
G 50��/��7� 
4�2�T�6 5���	10� ��83� �� ��01T 1�304	����B

5	T �
5��5�? A�3�2	 8��5	>� �F4�
/	 ∂Ω 3�	Q0/
T 	 00 @��1�

�S0
/�055� 	A105T0/
T6 50�F��3	1� �
�S0
/�4T/H �0�0��
��0B
30405	0 �A4�� 5� 8��5	>0 ∂Ω

) G �
����� AoA� ��

1�/�	��0/
T
�48��	/1 ��

/�5���	 �A4�� 5� 8��5	>0 ∂Ω

) K4T m/�8� �0l�0/
T
A�3�2� �
4��5�? 1	5	1	A�>		 Dh ��	 5�4	2		 �8��5	205	? /	��
���05
/�6 A�3�kS	� 8��5	>� ∂Ω

) �
4	 8��5	>� ∂Ω A�3�5� ����B
10/�	20
�	6 /� 34T �0�0��
��030405	T 8��5	257� �A4�� 1�Q5�
	
��4HA���/H ���>03��� F0A�
4��5�? 1	5	1	A�>		 Dh � ����10/B
�	20
��? @��106 ��

1�/�	��01�k /�1 Q0)
G �
����� AoAA ��	
7��0/
T 
��
�F 
8�S05	T 	 ��/�8�5�4	A�B

>		 
0/�	 � 8��5	>0 ∂Ω 
 ��1�SHk A�3�5	T �����4TkS08� 10/�	B
20
��8� /05A���Gij

)K4T m/�8� 	
��4HA�0/
T 
��?
/�� �5	�0�
�4HB
5�
/	 @�5�>	�5�4� D 6 /)0) 
��
�F5�
/H ��
���	A��3	/H A�3�55�k
0/��)
G �F4�
/T� 
� 
4�Q5�? 80�10/�	0? ��
/��05	0 5�2�4H5�? 50�7B

��Q3055�? 
0/�	 ��03
/��4T0/ 
�F�? �/304H5�k A�3�2�) K4T /�8�
2/�F7 ����
/H � 3���
/	1�0 15�Q0
/�� 50�7��Q30557� 
0/��6
	
��4HA�0/
T 10/�3 l/��@� 3	
��0/5�8� @�5�>	�5�4� � �7��QB
30557� T20?���2,|�,|z6 ��	
�557? � �
����� AoAB R�	10�7 ��B
£5*#'��$$ ���(� � � "&#��"#� ��0 � %�! # � � )!�0 ) � !#$��� � $&�0 ��

"��Ã�$#$���#� ���0 0,�#��"���+��Ã� � $&� �ÃÃ�� � "&� #�0 ?�)�)� ©ª¡«� -�
  � (� ���¢��¡�£}¼����²�����Á ½������~��� §�¤µ��������� ¶�������¤� �����������¤�
������ ���������� ���������³ ��������� ������� ������ � ������ ���� ©ªªª�
�� �ª� � ª� �� ©�¡ª¢©¿��� C'



A

B

C

D

j

k

i

E	
) +) \0/�� 
 2	
4�1 �A4�� 81×41×31 � 10Q4���/�25�1 ��5�40
/��F	57)

C*




/��05	T 
0/�� ��	�03057 � �
����� AoAu) �� �	
)+ ��03
/��405�

0/�� � 10Q4���/�25�1 ��5�40 /��F	57) \0/�� 
/��	/
T 
� 
8�S0B
5	01 ����3	5�/57� ���0��5�
/0? � 4���/��1 	 ��/�8�5�4	A�>	0?
����3	5�/57� 4	5	? � ���0��5�
/	 4���/��)
G �
����� AoAv �F
�Q3�0/
T �����
 � /�16 2/� @�5�>	�5�4 D50 T�4T0/
T 03	5
/�055� ��A1�Q571) ÿkF�T @�5�>	T ϕ(E) rE -

��375/08��4H5�0 �7��Q05	0 � Ds6 1�5�/�55� ��A��
/�kS�T ��	
E≥16 /��Q0 �F4�3�0/ 
��?
/��1 ��
���	A�0305	T ���	A��4H5�?
A�3�55�? 50�7��Q3055�? 
0/�	 ��	 
��/�0/
/��kS01 5�A5�205		
�����4TkS08� 10/�	20
��8� /05A���)

@�
�
 B ��
�TS05� ��	
�5	k ���	�>	�55�8� 10/�3� ��
/��B
05	T ��3�	Q57� �3��/	�57� 80�
�m3��4H57� 
0/�� 	 50��B
/��71 �����
�1 ��
/��05	T �35�10�57� 	 3��10�57� �3��B
/	�57� 
0/��) L
5��570 �0A�4H/�/7 ���F4	����57 � :+6 *'6
*Z; r�G.	.ý6C'''6C''+6C'',s6 :*C; rÊÔÍ) Õ) óÐÛ×Ø) à×ÍÎ)
ÞíÐÒïÑ6 C''Cs6 :**; rÙÊéà Õ) óÐÛ×Ø) éÔÓí)6 C''Cs6 :(; rÕ) ÝÜÛÖÐÍ)
ðÎÚÑ)6C''[s6 :CX; rR�0��	5/ GI EJ�6C''[s6 :*D; réïäÓÔá×Ñ ÒÔ öØÒï
ö×Ô×ØÓÍÒÜÔ6 ÝÎÓÖÍ)Z6C''[s)
G �
����� BoA ��	��3	/
T ��
/�5���� A�3�2	 	 @�5�>	�5�4

D � nB10�5�1 
4�2�06 ��034�Q0557? \)J)P��505��1 6 	
��4HA�0B
17? 34T ��
/��05	T �3��/	�57� ��3�	Q57� 
0/��) R�
/H A�3�5�
15�8��F��A	0M � ���
/��5
/�0

R
n+m �0�010557�

x̃=(x1, . . . , xn,

f1, . . . , fm)=(x1, . . . , xn+m)
) V30
H n

- ��A10�5�
/H 0��4	3��� ���B

/��5
/��

R
n �0�010557�

x=(x1, . . . , xn)6 m
- 2	
4� ��1��505/

1�5	/��5�? �0�/��B@�5�>		 f=(f1, . . . , fm)6 �� ��/���? �����B
3	/
T �3��/�>	T 
0/�	) q�Q3�T ��1��505/� 1�5	/��5�? @�5�>		
A��	
	/ �/

x
M fp=fp(x1, . . . , xn)

)
E�

1�/�	��0/
T 8�10�1��@5�06 �4�

�

C
1 6 �/�F��Q05	0

x̃(ξ) :
R

n→R
n+m ����10/�	20
��? �F4�
/	 P r��F 	4	 ��T1��8�4H57?

����44040�	�03s 	A ���
/��5
/�� �0�010557� ξ=(ξ1, . . . , ξn) 5�15�8��F��A	0 M) P
��4HA�0/
T /��Q0 �
��1�8�/04H5�0 8�10�B
1��@5�06 �4�

�

C
1 6 �/�F��Q05	0

X(ξ) : Rn→R
n �F4�
/	 P 5� �FB

4�
/H C 	A ���
/��5
/�� �0�010557� X=(X1, . . . , Xn)
) �
4	 � �FB

4�
/	 P ���030405� ��F	20
��T 
0/��6 /� 00 �F��A�1 � M F�30/
CC



50�7��Q3055�T 
0/��6 � ���0�>	T ��
40350? 5� @	A	20
��k �FB
4�
/H Ω � ���
/��5
/�0

R
n �0�010557�

x
T�4T0/
T �3��/	�5�?


0/��?)

f

x1

x2

M
ξ2

ξ1

x̃(ξ)

X2

X1

X(ξ)

C

P

Ω

E	
) Z) \4�2�? n=2, m=1
)

�� �	
)Z ����A�5 ��	10� 34T 
4�2�T n=26 m=16 /)0) 
��4T�5�?1�5	/��5�? @�5�>		 f
)

G @�5�>	�5�40 	
��4HA�0/
T 5��1	����55�0 F0A��A10�5�0 �/B
5�l05	0 	5���	�5/�� I1

� In
/05A��� G−1g

D(x(ξ)) =
1

nn/2

∫

· · ·
∫

P

[
ÍØ(G−1g̃)]n/2

√
detG√

det g̃
dξ1. . .dξn. rZs

V30
H ��1��505/7 10/�	20
��8� /05A��� gij
���57

g̃ij = αkl
∂xk

∂ξi

∂xl

∂ξj
, 830 αkl = δkl +

∂fp

∂xk

∂fp

∂xl
,C+



k, l = 1, . . . , n, p = 1, 2, . . . , m, δkl
- 
	1��4 q��50�0��) gij

5�A7B
��0/
T 1�5	/��571 10/�	20
�	1 /05A���1) .�5	/��5�T 10/�	��
F74� ��0305� G)K)ÿ	
0?�	57117

��	 A��	
	 @�5�>	�5�4�� 5�
1�5	/��5�1 15�8��F��A		)
P
��4HA�0/
T 
403�kS�T ���	�>	�55�T ��
/�5���� A�3�2	 ��B


/��05	T �3��/	�5�? 
0/�	) E�

1�/�	��0/
T A�3�2� ��
/��05	T
8�10�1��@5�8�6 �4�

�

C
1 6 �/�F��Q05	T

x(ξ) : Rn→R
n+m ����B

10/�	20
��? �F4�
/	 P 5� 15�8��F��A	0 M ��	 A�3�55�1 8�10�B
1��@	A10 8��5	> ∂P→∂M) L
�S0
/�4TkS	0 �/�F��Q05	0 @�5�B
>		

x(ξ) 5���3T/
T � �0A�4H/�/0 1	5	1	A�>		 @�5�>	�5�4� r*s6
830 Gij(ξ)

- m40105/7 
	110/�	25�? ��4�Q	/04H5� ���0304055�?
1�/�	>76 A�3�55�? � ��Q3�? /�2�0 P )G �
����� BoB ��	�03057 �35�10�57? 	 3��10�57? @�5�>	�B
5�476 ��4�2�0170 50��
�03
/�055� 	A @�5�>	�5�4� �FS08� �	3�
rZs6 0
4	 �����4TkS	? 10/�	20
�	? /05A�� Gij

T�4T0/
T 03	5	2B
571) p/	 @�5�>	�5�47 F74	 ��034�Q057 G)K)ÿ	
0?�	57117

) G
�
����� Bou �����3	/
T ������
	1�>	T �35�10�5�8� 	 3��10�5�B
8� @�5�>	�5�4��)
Ì�0�/�2025�T 1�304H �3��/�>		 ��03
/��405� � �
����� Bov)

K4T 504	50?5�8� ����505	T �0�05�
� ����A�5�6 2/� ��	 
�F4k30B
5		 50��/��7� �
4��	? A5�205	T 
0/�25�? 1�5	/��5�? @�5�>		
� T20?��� ��3�	Q5�? 
0/�	 �
/�k/
T 50	A105571	) Ì�83� A�3�B
2� ��
/��05	T �3��/	�5�? 
0/�	 1�Q5� ��

1�/�	��/H �/304H5�
�/ �
5��5�? A�3�2	6 ��� 0
4	 F7 	
��4HA���4�
H �5�4	/	20
�	
A�3�55�T 1�5	/��5�T @�5�>	T) p/� ��A��4T0/ 	

403���/H 50��B
/��70 ��Q570 
��?
/�� 3	
��0/5�8� @�5�>	�5�4� Dh 6 ��/��70

����5Tk/
T 	 � �FS01 
4�2�06 5���	10�6 ��	 ��
20/0 8�A�3	5�B
1	20
�	� /0205	? 
 �3��571	 ��45�1	)
G �
����� Bow ��

1�/�	��k/
T 
��?
/�� @�5�>	�5�4�Dh � �3B

5�10�5�1 	 2�
/5�1 3��10�5�1 
4�2�0 
 	
��4HA���5	01 /�0�/�B
2025�? 1�304	 �3��/�>		) R���A�5�6 2/� ��	 5�4	2		 ��A�7���
� 1�5	/��5�? @�5�>		 50�F��3	1� ­A�1���Q	��/H­ ���	A��3570
�/ m/�? @�5�>		 34T 
����505	T F0
��5025�8� F��H0�� � �35�B
10�5�8� @�5�>	�5�4� Dh ) G 3��10�5�1 
4�2�0 A�1���Q	��5	0

CZ



���	A��357� �/ 1�5	/��5�? @�5�>		 ��	��3	/ � ��A5	�5��05	k
­F��H0�5�8�­ 
��?
/�� � 	/0��>	�55�? ���>03��7 1	5	1	A�>		
@�5�>	�5�4�Dh 6 ��/���0 /��Q0 ��0�T/
/��0/ �7��Q305	k T200�

0/�	) p/�/ ��	01 	
��4HA���4
T \)J)P��505��2 6 � ��	2	57 ��AB
5	�5��05	T F��H0�5�8� 
��?
/�� F74	 	A�2057 � :*'6 **;) R���0B
30557? �5�4	A 
��?
/� 3	
��0/57� @�5�>	�5�4�� � �35�10�5�1
	 3��10�5�1 
4�2�T� ����A7��0/6 2/� �5	 T�4Tk/
T 50
�84�
�B
��5571	 10Q3� 
�F�?6 /)0) �
�S0
/�4T01�0 
 	� ��1�SHk 
8�S0B
5	0 
0/�	 � ��A�7�� 1�5	/��5�? @�5�>		 ���	
��3	/ �� ��A5�1�
�5�/�	 �F4�
/	 Ω 	 5� 00 8��5	>0 ∂Ω

) \403���/04H5�6 ��A5	��0/
A�3�2� 
�84�
���55�? ��

/�5���	 �A4�� 
0/�	 � Ω 	 5� ∂Ω

) L5�
�0l�0/
T � �
����� Bo�)
G �
����� Bo� 5� �35�10�5�1 ��	10�0 ����A�5�6 2/� ��	 	
B��4HA���5		 ����505	? p?40�� 34T @�5�>	�5�4� 
 >04Hk ��
/��B

05	T 
0/�� F0
��50257? F��H0� 5� 8��5	>0 15�Q0
/�� 50�7��QB
30557� 
0/�� �/
�/
/��0/6 2/� ��	��3	/ � �7��Q305	k T200� ��
��01T �3��/�>		)
G �
����� Bo� ��	
�57 ( 
��
�F�� �0�0
/��05	T �A4�� 5� 8��B

5	>0 �F4�
/	 ∂Ω
��	 �3��/�>		 
0/�	) K4T 
�84�
���55�? ��

/�B

5���	 �A4�� 
0/�	 �5�/�	 Ω 	 5� 00 8��5	>0 ∂Ω �0l�0/
T A�3�2�
�
4��5�? 1	5	1	A�>		 3	
��0/5�8� @�5�>	�5�4� Dh ��	 5�4	B
2		 �8��5	205	? /	�� ���05
/�6 A�3�kS	� ∂Ω

) R�	10�7 	
��4HB
A���5	T ��A4	257� 10/�3�� ��

/�5���	 8��5	257� �A4�� 34T
�5�4	/	20
�	 A�3�557� 1�5	/��57� @�5�>	? ��	�03057 � �
��
���� Bo�)
G �
����� Bo� ��	�0305 /�0�10�57? @�5�>	�5�4 D 6 A��	
�5B57? 5� 15�8�F��A		 M � ���
/��5
/�0

R
3+m ) L5 	100/ 
403�kB

C(



S	? �	3|| M

D =
1

33/2

∫∫∫

P

[
ÍØ(G−1g̃)]3/2

√

det G

√

det g

√

1 +
m
∑

i=1

(f i
x1)2 + (f i

x2)2 + (f i
x3)2

dξ1dξ2dξ3,

r(s
830 gij

- 10/�	20
�	? /05A��6 ����Q3�017? �/�F��Q05	01
x(ξ) :

R
3→R

3
����10/�	20
��? �F4�
/	 P 5� @	A	20
��k �F4�
/H Ω

)
G �
����� BoA� ��	
�57 
��
�F 3	
��0/	A�>		 @�5�>	�5�4�

r(s 	 ���>03��� 1	5	1	A�>		 3	
��0/5�8� @�5�>	�5�4� Dh ) E�
B
20/570 @��1�47 3�57 � �
����� BoAA) G �
����� BoAB ��

1�/B
�05 �48��	/1 ��

/�5���	 8��5	257� �A4��6 �
4��5�T 	 ����10/B
�	20
��T 1	5	1	A�>	T Dh ) G �
����� BoAu ��	�03057 ��	10B
�7 ��
/��05	T �3��/	�57� 
0/��) �� �	
)( ��03
/��405� 
0/��
81×61×41 � 10Q4���/�25�1 ��5�40 /��F	57) V�3�5	01 �����B
4TkS08� /05A��� Gij

�F0
�02	��0/
T 
8�S05	0 ����3	5�/57� ��B
�0��5�
/0? 
0/�	 � 4���/��1 /��F	57) R����3	/
T �3��/�>	T 
0/B
�	 �� �5�4	/	20
�	 A�3�55�? 1�5	/��5�? @�5�>		 f

)
G �
����� BoAv 5� 1�304H5�1 ��	10�0 ��

1�/�	��0/
T �
�F05B

5�
/H6 ��/���T ��A5	��0/ ��	 �3��/�>		 ���
/��5
/�055�? 
0/�	6
0
4	 1�5	/��5�T @�5�>	T /0��	/ ��A�7�)
G %�
�� u ��03
/��405 10/�3 ��
20/� 3��10�57� 50
/�>	�5��B

57� /0205	? 50�TA��8� 8�A�6 ��4k2�T 
4�2�	 /0205	? 
 �730405	B
01 �	1	20
��? m50�8		6 5� ��3�	Q57� 
0/���) L
5��570 �0A�4HB
/�/7 ���F4	����57 � :([; rR�0��	5/ GI EJ�6*DD[s6 :[6 D6 *'6 *Z;
r�G. 	 .ý6 C'''6C''+6C''(s6 :*+; rÝÜÛÖÐÍ) à×ÍÎÜïÑ ÒÔ éÖÖíÒ×ï
à×áÎ) ÓÔï èÔòÒÔ)6 C'''s6 :*C; rÊÔÍ×ØÔ) Õ) æÜØ óÐÛ×Ø) à×ÍÎ) ÒÔ ÞíÐÒïÑ6
C''Cs6 :*(; rÝÜÛÛ) àÓÍÎ) ÙáÒ)6C''+s6 :,; rÕ) ÝÜÛÖÐÍ) ðÎÚÑ)6 C''(s6
:*X; rÝÜÛÖÐÍ) ÞíÐÒï ßÚÔÓÛÒáÑ Õ)6 C''*s) .0/�3 ��4k2�0/ � 
0FT m40B
105/7 
�017 \)q)N�3�5���4,5 M ������
	1�>	k ����505	? 8�A���?
3	5�1	�	6 A��	
�557� � �	30 	5/08��4H57� A���5�� 
����505	T6
	 �0l05	0 A�3�2	 � ��
��30 ��A�7�� 34T ���030405	T ��/����
££JL#� �=� I��� I � "$ 0 +&#Ã$ !� �� G!�0 G � !#$��� #�0 �ÃÃ��"#$�����4�!�0��",� +��Ã�$��) + �$ ! �% /�I� ����CX



j

k

i

X

Y

Z

rFs

r�s

E	
) () J3��/	�5�T 
0/�� r�sx @��8105/ 8��5	25�? ���0��5�
/	
k=41 rFs)

C[



20�0A 8��5	>7 T20?�	) V�5� 8��05	T 8�A� ��A�0l�0/
T 
8�S05	01
�A4�� ��3�	Q5�? �3��/	�5�? 
0/�	)
G �
����� uoA��	��3	/
T 
	
/01� ����505	?6 ��	
7��kS�T �3B

5�10�5�0 /0205	0 50�TA��8� 8�A� ��	 5�4	2		 �	1	20
��? �0��B
>		) ¸	
4055�T 
�01� ��
20/� 5� ��3�	Q5�? 
0/�0 ��

1�/�	��0/B

T � �
����� uoB) R����3	/
T ������
	1�>	T ����505	? 3�	Q0B
5	T 8�A�6 A��	
�557� � �	30 	5/08��4H57� A���5�� 
����505	T)
V�3�2� � ��
��30 ��A�7�� 5� ��3�	Q5�? 
0/�0 34T /0205	? 8�B
A� 
 �730405	01 �	1	20
��? m50�8		 ��

1�/�05� � �
����� uou)
V30
H 	
��4HA�0/
T 10/�3 �0l05	T 504	50?5�? 
	
/017 ����50B
5	? 34T 508��k208� 8�A�5 � 1�105/ ��0105	 tn+1/2 6 	 �0l�0/
T
A�3�2� � ��
��30 ��A�7�� 34T ����505	T �	1	20
��? �	50/	�	)
G �
����� uov ��	��3	/
T �
4��	0 �
/�?2	��
/	 5� l�8 �� ��0B
105	 ��	 ��
20/0 5� ��3�	Q5�? 
0/�0) \	
/01� ����505	? 34T
3��10�5�8� 50
/�>	�5��5�8� /0205	T 8�A� ��	 5�4	2		 �	1	20B

��? �0��>		 �7�	
�5� � �
����� uow � @��10 A���5�� 
����50B
5	T � 	5/08��4H5�? @��10) E�A5�
/5�T 
�01� �0l05	T ����505	?
5� ��3�	Q5�? 
0/�0 ��

1�/�	��0/
T � �
����� uo�)
G �
����� uo� ��	�03057 �0A�4H/�/7 ��
20/�� /0205	T 8�A� F0A

�	1	20
��? �	50/	�	M A�3�2	 � ��
��30 ��A�7��6 
�0��A������8�
/0205	T � �4�
��1 ��5�406 �F/0��5	T ��74���8� ���@	4T6 50
/�B
>	�5��5�8� /0205	T � �4�
��1 ��5�40 
� 
/��05H��?6 3��10�5�?
A�3�2	 � ��
���
/��505		 �A�7��) R�	 ��
20/0 A�3�2	 � 
�0��A��B
����1 /0205		 8�A� � �4�
��1 ��5�40 F74� ����A�5�6 2/� 	
��4HB
A���5	0 �3��/	�57� 
0/�� ��A��4	4� 
m��5�1	/H ��1T/H ��1�HkB
/0�� � C( ��A 	 �105Hl	/H ��01T 
20/� � ('-X' ��A �� 
���505	k

 ��
20/�1 5� ���A	���5�10�5�? @	�
	����55�? 
0/�0) G �
����
�� uo� ��	�03057 �0A�4H/�/7 ��
20/�� /0205	T 8�A� 
 �	1	20
��?
�	50/	��?M �35�10�5�? 30/�5�>		 � �0Q	10 ¸0�105�B��806 �3B
5�10�5�8� /0205	T 50�
/�?2	��? �0�0
Q�/�? ��4576 50�
/�?2	B
��? �0�0
Q�/�? ��457 � �4�
��1 ��5�40 r
1) �3��/	�5�k 
0/��
5� �	
)Xs)
G %�
�� v ��	
�5 �48��	/1 ��5
0���/	�5�? 	5/0���4T>		 
 �3B

5�? 80�
�m3��4H5�? 
0/�	 5� 3��8�k) L
5��570 �0A�4H/�/7 ���FB
C,



r�s rFs
E	
) X) J3��/	�5�T 
0/��6 ��4�2055�T ��	 ��
20/0 50�
/�?2	B
��? �0�0
Q�/�? ��457 � �4�
��1 ��5�40 � 1�105/ t=60.44 r�s 	
t=61.59 rFs)

CD



4	����57 � :Z; r.�/01) .�304	����5	06C'',s6 :+'; rR�0��	5/ GI
EJ�6C''Xs6 :*D; réïäÓÔá×Ñ ÒÔ öØÒï ö×Ô×ØÓÍÒÜÔ6 ÝÎÓÖÍ) *C6 C''[s)
G �
����� voA ��	�0305� ��
/�5���� A�3�2	 	5/0���4T>		 34T

��
�25�B��
/�T55�8� ��
��030405	T ��5
0���/	�5�? @�5�>		 �
T20?��� 
0/�	) V�3�2� 	5/0���4T>		 
��3	/
T � ���030405	k �F{B
01� @	8��7 �0�0
0205	T T200� 
/���? 
0/�	 ωo

	 5���? 
0/�	
ωn
) K4T ���0304055�
/	 ��

1�/�	��0/
T 	5/0���4T>	T �4�/5�B


/	) N0�
�m3��4H5�T T20?�� 
 4	50?2�/71	 8��5T1	 A�105T0/
T
5� 3�0 *CB8��5570 
 /�0�8�4H571	 8��5T1	 r
1) �	
)Cs) \ ��1�B
SHk ���0��5�
/5�8� 	5/08��4� �72	
4T0/
T �F{01 *CB8��55	���
	 ����A7��0/
T6 2/� ��4�
�11� �F{01�� 3��� *CB8��55	��� ���5�
�F{01� 80�
�m3��4H5�? T20?�	) p/� ���05
/�� 10Q3� �F{01�1	
80�
�m3��4H5�? T20?�	 	 30
T/	 /0/��m3���6 
�
/��4TkS	� 3��
*CB8��55	��6 F74� ��4�205� L)G)Ul�����?3 50��
�03
/�05571
�72	
405	01 �F{015�8� 	5/08��4�) R�
/��05	0 @	8��7 �0�0
0B
205	T 3��� 80�
�m3��4H57� T200� A�105T0/
T ��
/��05	01 @	8�B
�7 �0�0
0205	T 20/7�0� ��� *CB8��55	���) G ��Q3�? ���0 �2�
/B
��k/ �� �35�1� *CB8��55	�� �/ 5���? 	 
/���? 80�
�m3��4H57�
T200�) LF{01 @	8��7 �0�0
0205	T 80�
�m3��4H57� T200� F0�0/B

T ���571 
�03501� �/ 5�?30557� Z �F{01�� @	8�� �0�0
0205	T
*CB8��55	���)
G �
����� voB 3�0/
T �FS00 ��	
�5	0 10/�3�6 5� ��	10�0 	5B

/0���4T>		 �4�/5�
/	) J48��	/1 	5/0���4T>		 
�
/�	/ 	A ( m/�B���) G �
����� vou ��	
7��0/
T m/�� Ê6 ��
/��05	0 Lon
6 4	5		

�0�0
0205	T ���0��5�
/0? *CB8��55�? T20?�	 Ωn
5���? 
0/�	 ωn	 *CB8��55�? T20?�	 Ωo


/���? 
0/�	 ωo
) �� m/�1 m/��0 5���3	/B


T 4�1�55�T 4	5	T Lon
6 ��Q3�0 A�05� ��/���? T�4T0/
T 4	5	0?

�0�0
0205	T 3��� /�0�8�4H57� 8��50? T200� Ωn
	 Ωo

) R�03��4�B
8�0/
T6 2/� 4	5	T Lon

T�4T0/
T ��5/���16 F0A /�20� �0/�405	T)
.�Q0/ 
�S0
/����/H 50
��4H�� 4	5	? Li

on

)
G �
����� vov ��	
7��0/
T m/�� ÊÊ6 ��
/��05	0 @	8��7 �0�0B


0205	T T200� Ωo
	 Ωn

) p/�/ m/�� �
�S0
/�4T0/
T �35���01055�

 m/���1 Ê) �� ��Q3�? 	A ��

1�/�	��017� /�0�8�4H57� 8��50?
T200� Ωo

r	4	 Ωn
s 
/��	/
T 15�8��8�4H5	�6 �7
0��017? 4	5	0?

+'



Lon
	 40Q�S	? �5�/�	 T20?�	 Ωn

r	4	 Ωo
s) V��4k2055�T �5�/�	

508� �4�
��T ���0��5�
/H 0
/H 2�
/H 8��5	>7 	
��1�? @	8��7
Ωon

) R�
��4H�� 1�Q0/ 
�S0
/����/H 50
��4H�� 4	5	? Li
on
6 /� 	

15�8��8�4H5	��� 5� ��

1�/�	��01�? 8��5	 1�Q0/ F7/H F�4Hl0
�35�8� r5� 50 F�400 3���s) LF{03	505	0 �
0� 15�8��8�4H57� ��B
�0��5�
/0? �F��A�0/ 8��5	>� Ωon

) ý	8��� Ωon
1�Q0/ 
�
/�T/H 	A

3��� 
	1�40�
��)
G �
����� vow ��	
7��0/
T m/�� ÊÊÊ6 �72	
405	0 �F{01� 	 1�

7

@	8��7 �0�0
0205	T Ωon
)

r�s rFs

E	
) [) q�	��4	50?5�T 
0/�� ωo
M29×29×49 r�s6 ��T1��8�4H5�T

���5�10�5�T 
0/�� ωn
M 31×31×51 rFs)

G �
����� vo� ��	
7��0/
T m/�� ÊÉ6 �0�0F�� T200� 
0/�	 ωo
)

�0�F��3	1� 5�?/	 ����Q05	0 ��

1�/�	��01�? 5���? T20?�	 Ωn
6

��/���0 
�
/�	/ 	A 
/��7� T200� Ωq
o
6 q=1, 2, . . ., qmax

6 	10kS	�
� �0�0
0205		 
 T20?��? Ωn

50��
/�0 15�Q0
/��) K4T /0��S0?+*



-1 -0.5 0 0.5 1
0

1

2

3

4

-1 -0.5 0 0.5 1
0

1

2

3

4

r�s rFs r�s
E	
) ,) R��0�>	T ����3	5�/5�? ���0��5�
/	 j=1 
0/�	 ωo

5� �4�
B
��
/H x, z r�sx 	A�4	5		 ρ � 
4�0 j=1 
0/�	 ωo

rFs 	 
0/�	 ωn
r�s)

T20?�	 Ωn
��034�8�0/
T ��/	1�4H57? �48��	/1 �0�0F��� T200�


0/�	 ωo

 /016 2/�F7 ����0�T/H /�4H�� T20?�	 ����Q05	T Ωq

o
) G

�
����� vo� ��	
7��0/
T m/�� É6 ��
20/ 1�

7 mn
6 A��4k2055�?

� T20?�0 5���? 
0/�	6 	 A5�205	T �4�/5�
/	 � 50?)
G �
����� vo� ��

1�/�05 �����
 ��
/��05	T 
4�0� @	�/	�57�

T200�) þ20?�	 	 8��5	 
/���? ωo
	 5���? ωn


0/�� 50 3�4Q57 
��B��3�/H) P5�20 A�3�2� ���030405	T 4	5		 �0�0
0205	T 
����3�kB
S	� 8��50? T200� T�4T0/
T 50�35�A5�25� ���0304055�?6 2/� ��	
�72	
405	T� ��	��3	/ � 30405	k 5� 5�4H) R�m/�1� 50��A1�Q5�
	5/0���4	����/H �04	2	57 
 
0/�	 5� 
�1� 
0FT) ¸/�F7 	AF0Q�/H

	/��>	? ��0�7��5	T 
403�0/ 
408�� 
3�	5�/H �35� 
0/�� r5���	B
10�6 5���k ωn

s �/5�
	/04H5� 3��8�? rωo
s) R�
��4H�� ��	 
3�	80

50��/��70 8��5	2570 T20?�	 
0/�	 ωn
�7?3�/ A� ��
20/5�k �FB

4�
/H6 ���3	/
T 3���45	/04H57? �50l5	? 
4�? @	�/	�57� T200�
34T 
/���? 
0/�	 ωo

�� �
0? 8��5	>0 �F4�
/	 
 m�
/����4T>	0?

+C



� 5	� A5�205	? �4�/5�
/	|¬ ) Ì���T ��
l	�055�T 
0/�� �F�A5�2�B
0/
T ωext

o

) Ì0�0�H T20?�	 
0/�	 ωn
F�3�/ >04	��1 40Q�/H �5�/�	

�F4�
/	6 A�5	1�01�? T20?��1	 ωext
o
6 	 ��/0�	 1�

7 ��
40 	5/0�B��4T>		 50 ���	A�?30/)

G �
����� vo� �����3	/
T �5�4	A �l	F�	 	5/0���4T>		) L5�

�4�37��0/
T 	A �l	F�� 3��� /	���) R0���T 
�TA�5� 
 �l	F��1	
����8405	? ��	 �72	
405	T�) R�	 ��04	205		 ��A�T35�? 
0/�	
��1�Hk/0�� m/� �l	F�� F�30/ 
/�01	/H
T � 5�4k) G/���T6 
	
/0B
1�/	20
��T �l	F��6 
�TA�5� 
 /016 2/� 
0/�� ωn


3�	5�/� �/5�B

	/04H5� ωo

) ¸/�F7 ��5T/H ��	2	5� ��A5	�5��05	T 
	
/01�/	B
20
��? �l	F�	 ��

1�/�	��0/
T ��	10� 	5/0���4T>		 
 ��T1�B
�8�4H5�? ���5�10�5�? 
0/�	 ωo

5� m/� Q0 
0/�� ωn
6 
3�	5�/�k

�/5�
	/04H5� 
/���?) R����3	/
T �>05�� 
	
/01�/	20
��? �l	FB
�	)
G �
����� voA� ��	�03057 2	
405570 ��	10�7 	5/0���4T>		)

�� �	
) [� ��03
/��405� 
/���T 
0/�� ωo

 2	
4�1 �A4�� 29×29×49� ��T1��8�4H5�? �F4�
/	 0≤x, y≤16 0≤z≤4 r
0/�� F74� ��
/��05�L)G)Ul�����?s 
 ��
��030405	01 �4�/5�
/	

ρo(x, y, z) =

{

ρb,
0
4	 z<zb − 0.43

ρb + (ρt − ρb){1 − exp[−α(z − zb + 0.43)2]}, 	5�20,
830 ρb=16 ρt=1006 α=4

) �� �	
) [F ����A�5� 5���T ��T1��8�4H5�T

0/�� ωn : 31×31×516 5� ��/���k �
�S0
/�4T0/
T 	5/0���4T>	T
1�

7)
R��0�>	T ����3	5�/5�? ���0��5�
/	 j=1 5� �4�
��
/H x, z

��B
��A�5� 5� �	
),�) �� �	
),F6� ��03
/��4057 	A�4	5		 �4�/5�
/	
� 
4�0 j=1 
0/�� ωo

	 ωn

��/�0/
/�055�)

]h�i��jf cf����e`ej
*s E�A��F�/�5 5��7? ���	�>	�557? 10/�3 ��
/��05	T 
/���/��	B
����557� 
0/�� � ���
/��5
/�0557� �F4�
/T� 
� 
4�Q5�? 80�10/B
£®4�=���"< *�6�Á (#0�#� ��2� /?��(�4Ç � "��� !L#$�L $&!  �0�� �����#�

! �#ÃÃ��) "�0 � 8�� ��#��� ! Ã�!$� ©ªª©�++



�	0?)
Cs R���A�5�6 2/� 	
��4HA�017? @�5�>	�5�4 T�4T0/
T �5	�0�B


�4H571) R�	 1	5	1	A�>		 m/�8� @�5�>	�5�4� 1�Q5� ��
���	AB
�0
/	 4kF�0 A�3�55�0 50�7��Q3055�0 �/�F��Q05	06 � 5� 3	
��0/B
5�1 ����50 4kF�k A�3�55�k 50�7��Q3055�k 
0/��)
+s R�034�Q05 5��7? 
��
�F ������
	1�>		 @�5�>	�5�4� 5�

*' /0/��m3��� 34T ��Q3�? 80�
�m3��4H5�? T20?�	) R�034�Q057
5��70 ��	F4	Q05570 �
4��	T 50�7��Q3055�
/	 80�
�m3��4H5�?
T20?�	6 ��/��70 � ����/	20
�	� ��
20/�� �F0
�02	��k/ 50�7��QB
3055�
/H 80�
�m3��4H57� T200� 
0/�	)
Zs R���A�5�6 2/� 3	
��0/57? @�5�>	�5�4 �F4�3�0/ F0
��502B

571 F��H0��1 5� 8��5	>0 15�Q0
/�� 50�7��Q30557� 
0/��6 2/�
��0�T/
/��0/ �7��Q305	k 
0/�	 � ���>0

0 1	5	1	A�>		 @�5�B
>	�5�4�)
(s R�034�Q05 10/�3 ��

/�5���	 �A4�� 5� 8��5	>0 �F4�
/	6 A�B

�4k2�kS	?
T � �
4��5�? 1	5	1	A�>		 @�5�>	�5�4�)
Xs R�034�Q057 10/�3 ��/�8�5�4	A�>		 	 A�3�55�8� 
8�S05	T


0/�	 ���4� 8��5	>7 �F4�
/	6 � /��Q0 
��
�F 
84�Q	��5	T 
0/�2B
57� 4	5	? 
�
035	� F4���� 
0/�	6 �
5���5570 5� 	
��4HA���5		

��?
/�� �5	�0�
�4H5�
/	 @�5�>	�5�4�)
[s E�A��F�/�5 5��7? ���	�>	�557? 10/�3 ��
/��05	T ��3�	QB

57� �3��/	�57� 80�
�m3��4H57� 
0/�� 34T 2	
4055�8� 1�304	��B
��5	T @	A	20
�	� ���>0

��)
,s �� �
5��0 ��034�Q055�? /�0�/�2025�? 1�304	 �3��/�>		

����0305 /0��0/	20
�	? �5�4	A 
��?
/� 3	
��0/57� @�5�>	�5�B
4�� � �35�10�5�16 3��10�5�1 	 /�0�10�5�1 
4�2�0 ��	 5�4	2		
��A�7��� � 1�5	/��5�? @�5�>		) J5�4	A ����A�4 50�F��3	1�
/H
A�1���Q	��5	T ���	A��357� �/ 1�5	/��5�? @�5�>		 ��	 1	5	B
1	A�>		 @�5�>	�5�4�)
Ds R���A�5� 50
�84�
���55�
/H 3��10�5�8� 	 �35�10�5�8� @�5�B

>	�5�4� ��	 ��
/��05		 3��10�57� �3��/	�57� 
0/��6 � /��Q0
/�0�10�5�8� 	 3��10�5�8� @�5�>	�5�4� ��	 ��
/��05		 /�0�10�B
57� �3��/	�57� 
0/��) K4T �
�S0
/�405	T 
�84�
���55�? ��

/�B
5���	 �A4�� �3��/	�5�? 
0/�	 �5�/�	 �F4�
/	 	 5� 00 8��5	>06

+Z



��034�Q05� 	
��4HA���/H 10/�3 �
4��5�? 1	5	1	A�>		 @�5�>	B
�5�4�)
*'s E�A��F�/�5 2	
40557? 10/�3 ��
20/� 3��10�57� 50
/�>	B

�5��57� 8�A�3	5�1	20
�	� /0205	? 
 �730405	01 �	1	20
��?
m50�8		 5� ��3�	Q57� 
0/���)
**s E�A��F�/�5 5��7? �48��	/1 ��5
0���/	�5�? 	5/0���4T>		

5� 80�
�m3��4H57� 
0/���)
*Cs R�034�Q05 ��/	1�4H57? �48��	/1 �0�0F��� T200� 
0/�	6

��A��4TkS	? A5�2	/04H5� 
����/	/H 2	
4� ��0��>	? 	 ��01T 
20B
/�)

��^�gd`�gg �i ef�f �ghhfce`�gg
\/�/H	 � �0>05A	��017� Q��5�4��6 �0��1053���557� GJq)
*) JA��05��O)�) L ��
/��05		 
/���/��	����557� 
0/�� � 3��B
10�57� 50�7���47� �F4�
/T� 
 ��1�SHk �/�F��Q05	?���)
�72	
4) 1�/01) 	 1�/01) @	A) C''D) Ì)Z,) � () \) *-*+)

C) JA��05��O)�) G��	�>	�557? 10/�3 ��
/��05	T 80�
�m3��4HB
57� 
0/�� 
 �����4TkS0? 10/�	��?��.�/01) 1�304	����5	0)
C'',) Ì)C') � D) \) +-CC)

+) JA��05��O)�) G��	�>	�557? 10/�3 ��
/��05	T ���
/��5B

/�0557� �3��/	�57� 
0/�����) �72	
4) 1�/01) 	 1�/01)
@	A) C'',) Ì)Z,) � () \) *''-**D)

Z) JA��05��O)�) LF �35�1 10/�30 ��5
0���/	�5�? 	5/0���4TB
>		 5� 80�
�m3��4H57� 
0/�����.�/01) 1�304	����5	0) C'',)
Ì)C') � C) \) (D-[()

() éëÓØ×ÔÜüõ)ó)é Û×ÍÎÜï Üæ áÜÔÑÍØÐáÍÒÔò ÓïÓÖÍÒä× Î×îÓÎ×ïØÓí ÛÜB
äÒÔò òØÒïÑ��Õ) ÝÜÛÖ) ðÎÚÑ) É) CCX) ÊÑÑÐ× *) C''[) ð) **'C-**C*)

X) éëÓØ×ÔÜüõ)ó) é äÓØÒÓÍÒÜÔÓí Î×îÓÎ×ïØÓí òØÒï ò×Ô×ØÓÍÜØ âÒÍÎ áÜÔBÍØÜí Û×ÍØÒá��Õ) ÝÜÛÖ) ðÎÚÑ) É) C*,) ÊÑÑÐ× C) C''X) ð) [C'-[Z[)
+(



[) JA��05��O)�) LF �35�? 
�010 ��
20/� 30/�5�>	�557� ��45 5�
��3�	Q57� 
0/������) �72	
4) 1�/01) 	 1�/01) @	A) C''()
Ì)Z() � *C) \) CCX'-CC,C)

,) éëÓØ×ÔÜüõ)ó)6 ùÓÔòù) Ù×áÜÔïBÜØï×Ø öÜïÐÔÜäBÍÚÖ× ÑáÎ×Û× æÜØ
Ø×ÓáÍÒä× �Üâ áÓíáÐíÓÍÒÜÔÑ ÜÔ ÛÜäÒÔò Û×ÑÎ×Ñ��Õ) ÝÜÛÖ) ðÎÚÑ)
É)C'X) ÊÑÑÐ× *) C''() ð) Z,-,')

D) JA��05��O)�) E�
20/ A�3�2	 � �A�7�0 5� ��3�	Q5�? �3��/	�B
5�? 
0/�0���) �72	
4) 1�/01) 	 1�/01) @	A) C''+) Ì) Z+)� X)
\) ,(X-,X()

*') JA��05��O)�) L ��	10505		 ���	�>	�55�8� F��H0�5�8� 10/�B
3� � 8	�0�F�4	20
�	� A�3�2�� 8�A���? 3	5�1	�	���) �72	
4)
1�/01) 	 1�/01) @	A) C''+) Ì) Z+) � [) \) *'[C-*'DX)

**) éëÓØ×ÔÜüõ)ó) ÉÓØÒÓÍÒÜÔÓí ñÓØØÒ×Ø Û×ÍÎÜï Üæ ÓïÓÖÍÒä× òØÒï
ò×Ô×ØÓÍÒÜÔ ÒÔ ÎÚÖ×ØñÜíÒá ÖØÜñí×ÛÑ Üæ òÓÑ ïÚÔÓÛÒáÑ��ÙÊéà Õ)
óÐÛ×Ø) éÔÓí) C''C) É) Z')� C) ð) X(*-X,C)

*C) ÊäÓÔ×ÔüÜ Ù)é)6 éëÓØ×ÔÜüõ)ó) éÖÖíÒáÓÍÒÜÔ Üæ ÛÜäÒÔò ÓïÓÖÍÒä×
òØÒïÑ æÜØ ÔÐÛ×ØÒáÓí ÑÜíÐÍÒÜÔ Üæ ÔÜÔÑÍÓÍÒÜÔÓØÚ ÖØÜñí×ÛÑ ÒÔ òÓÑ
ïÚÔÓÛÒáÑ��ÊÔÍ) Õ) óÐÛ×Ø) à×ÍÎ) ÞíÐÒïÑ) C''C) É) +D) ð) *-CC)

*+) éëÓØ×ÔÜüõ)ó) Ï×ÓíÒëÓÍÒÜÔ Üæ Ó Ñ×áÜÔïBÜØï×Ø öÜïÐÔÜäêÑ Û×ÍÎÜï��ÝÜÛÖÐÍ) à×ÍÎÜïÑ ÒÔ éÖÖíÒ×ï à×áÎÓÔÒáÑ ÓÔï èÔòÒÔ××ØÒÔò)
C''') É) *,D) � +) ð) *'+*-*'(C)

*Z) JA��05��O)�)6 P��505�� \)J) L ��	10505		 �3��/	�57� 
0B
/�� 34T 2	
4055�8� �0l05	T 50
/�>	�5��57� A�3�2 8�A���?
3	5�1	�	���) �72	
4) 1�/01) 	 1�/01) @	A) C''') Ì) Z')� D)
\) *+,X-*Z'[)

\/�/H	 � �0>05A	��017� Q��5�4��)
*() éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é)6 ùÓÔòù) éïÓÖÍÒä× Û×ÑÎ Ø×ïÒÑBÍØÒñÐÍÒÜÔ Û×ÍÎÜï ñÓÑ×ï ÜÔ öÜïÐÔÜäêÑ ÑáÎ×Û×��ÝÜÛÛ) àÓÍÎ)

ÙáÒ) C''+) É) *) � *) ð) *(C-*[D)+X



*X) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) éÖÖíÒáÓÍÒÜÔ Üæ ÛÜäÒÔò ÓïÓÖÍÒä×
òØÒïÑ æÜØ ÑÒÛÐíÓÍÒÜÔ Üæ ÑÐÖ×ØÑÜÔÒá òÓÑ �Üâ��ÝÜÛÖÐÍ) ÞíÐÒï
ßÚÔÓÛÒáÑ ÕÜÐØÔ) ÕÓÖÓÔ) C''*) É) *') � +) ð) Z''-Z'Z)

N4��7 � ��440�/	�57� 1�5�8��@	T�)
*[) JA��05��O)�) G��	�>	�557? 10/�3 ��
/��05	T ���
/��5B


/�0557� 
0/����p5>	�4��03	T 5	A��/01�0��/��5�? �4�A17)
.�/01�/	20
��0 1�304	����5	0 � 5	A��/01�0��/��5�? �4�AB
10) þ5�
Bq) .�
���) C'',) ¸�
/H Ê) E�A304 ÊÊÊ) N4��� () \)
CX(-C,Z)

*,) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) öØÒï ÜÖÍÒÛÒëÓÍÒÜÔ ÓÔï ÓïÓÖÍÓÍÒÜÔ)
ÊÔM éïäÓÔá×Ñ ÒÔ öØÒï ö×Ô×ØÓÍÒÜÔ) råÑÎÓüÜäÓ ç)É) ×ï)s) óÜäÓ
ÙáÒ×Ôá× ðÐñíÒÑÎ×ØÑ) ó×â �ÜØü) C''[) ÝÎÓÖÍ) Z) ð) ,(-*C()

*D) éëÓØ×ÔÜüõ)ó) ÝÜÔÑ×ØäÓÍÒä× Ø×ÛÓÖÖÒÔò ÜÔ Î×îÓÎ×ïØÓí Û×ÑÎ×Ñ) ÊÔM
éïäÓÔá×Ñ ÒÔ öØÒï ö×Ô×ØÓÍÒÜÔ) råÑÎÓüÜäÓ ç)É) ×ï)s) óÜäÓ ÙáÒ×Ôá×)
ó×â �ÜØü) C''[) ÝÎÓÖÍ) *C) ð) ++[-+[D)

R��2	0 ��F4	��>		)
C') éëÓØ×ÔÜüõ)ó) é Û×ÍÎÜï Üæ ò×Ô×ØÓÍÒÔò Cß ÑÍØÐáÍÐØ×ï òØÒïÑ) ÊÔM

ÙÜÔÒ õ)6 øÓÐÑ×Ø Õ)6 èÒÑÛÓÔð)6 ÓÔï ùÎÜÛÖÑÜÔ Õ)6 ×ïÑ) ðØÜá××ïÒÔòÑ
Üæ ÍÎ× **ÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá× ÜÔ óÐÛ×ØÒáÓí öØÒï
ö×Ô×ØÓÍÒÜÔ6 àÜÔÍØ×Óí6 ÝÓÔÓïÓ 6 àÓÚ C(BC,6 C''D) õÒØÛÒÔòÎÓÛ)éíÓñÓÛÓM ÊÔÍ×ØÔÓÍÒÜÔÓí ÙÜáÒ×ÍÚ Üæ öØÒï ö×Ô×ØÓÍÒÜÔ)

C*) JA��05��O)�)6 L ���	�>	�55�1 10/�30 ��
/��05	T 80�
�m3B
��4H57� �3��/	�57� 
0/����Ì0A	
7 3��4�3� 5� ËÉÊÊ G
0��
B

	?
��? ��5@0�05>		 ­Ì0��0/	20
�	0 �
5��7 	 ��5
/��	��B
��5	0 2	
40557� �48��	/1�� 34T �0l05	T A�3�2 1�/01�/	B
20
��? @	A	�	 
 ��	4�Q05	01 � 15�8����>0

��571 
	
/0B
1�1­��
�TS055�T ��1T/	 q)P)O�F05��6 *(-C* 
05/TF�T C'',6
Kk�
�6 \) +)

+[



CC) JA��05��O)�) q �����
� � ��
/��05		 ���
/��5
/�0557�
�3��/	�57� 
0/����ðØÜá) Üæ ÊÔÍ×ØÔÓÍÒÜÔÓí áÜÔæ×Ø×Ôá× ­óÐÛ×ØÒB
áÓí ò×ÜÛ×ÍØÚ6 òØÒï ò×Ô×ØÓÍÒÜÔ ÓÔï ÑáÒ×ÔÍÒìá áÜÛÖÐÍÒÔò­6 é)é)ßÜB
ØÜïÔÒáÚÔ ÝÜÛÖÐÍÒÔò Ý×ÔÍ×Ø ÏéÙ6 àÜÑáÜâ6 ÕÐÔ× *'B*+6 C'',6
ð)X[-[Z)

C+) JA��05��O)�) LF �35�1 ���	�>	�55�1 10/�30 ��
/��05	T

/���/��	����557� 
0/�� � 3��10�57� �F4�
/T���Ì0A	
7)
ÉÊÊ .0Q3�5���35�T q�5@0�05>	T �� �0���5��0
571 R��B
>0

�1 � \��4�� 	 \/��T� róðóÕ C'',s) C(-+* 1�T C'', 8)
J4�l/�) .)M G�A��
��T �5	8�) C'',) \) +X-+[)

CZ) éëÓØ×ÔÜüõ)ó) é äÓØÒÓÍÒÜÔÓí ÓÖÖØÜÓáÎ ÍÜ Î×îÓÎ×ïØÓí Û×ÑÎ
ò×Ô×ØÓÍÒÜÔ) ÊÔM ÙÜÔÒ õ)6 øÓÐÑ×Ø Õ)6 èÒÑÛÓÔð)6 ÓÔï ùÎÜÛÖÑÜÔ Õ)6
×ïÑ) ðØÜá××ïÒÔòÑ Üæ ÍÎ× *'ÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá× ÜÔ
óÐÛ×ØÒáÓí öØÒï ö×Ô×ØÓÍÒÜÔ6 ÞÜØÍÎ6 ÝØ×Í×6 öØ××á×6 *XBC'Ù×ÖÍ×Ûñ×Ø6 C''[) õÒØÛÒÔòÎÓÛ) éíÓñÓÛÓM ÊÔÍ×ØÔÓÍÒÜÔÓí ÙÜáÒ×ÍÚ
Üæ öØÒï ö×Ô×ØÓÍÒÜÔ) ð) +-*C)

C() JA��05��O)�) L ��
/��05		 �3��/	�57� ��3�	Q57� 80�
�Bm3��4H57� 
0/����Ì0A	
7) .�/0�	�47 ËÉ .0Q3�5���35�?
q�5@0�05>		 �� G72	
4	/04H5�? .0��5	�0 	 \���0105571
R�	�4�3571 R��8��11571 \	
/01�1 rG.\RR\-C''[s) C(-
+* 1�T C''[ 8) J4�l/�) .)M G�A��
��T �5	8�) C''[) \) +,-+D)

CX) JA��05��O)�) L ��
/��05		 ��3�	Q57� �3��/	�57� ���B

/��5
/�0557� 
0/��) .)M GI EJ�) C''[) (' \)

C[) JA��05��O)�) L ��
/��05		 ���
/��5
/�0557� 
0/����Ì0A	B

7 3��4�3� 5� ËÉÊ G
0��

	?
��? ��5@0�05>		 ­Ì0��0/	B
20
�	0 �
5��7 	 ��5
/��	����5	0 2	
40557� �48��	/1��
34T �0l05	T A�3�2 1�/01�/	20
��? @	A	�	 
 ��	4�Q05	B
01 � 15�8����>0

��571 
	
/01�1­ ��
�TS055�T ��1T/	
q)P)O�F05��) Z-*' 
05/TF�T C''X) Kk�
�) \) +)

C,) JA��05��O)�) q �����
� � ��
/��05		 80�
�m3��4H57� 
0B
/����Ì��37 G
0��

	?
��? q�5@0�05>		 ­¸	
4055�T 80�10/B+,



�	T6 ��
/��05	0 ��
20/57� 
0/�� 	 �7
������	A��3	/04H570
�72	
405	T­) .)M GI EJ�) Z-[ 	k4T C''X) \) *''-*'[)

CD) JA��05��O)�) LF �35�1 ���	�>	�55�1 10/�30 ��
/��05	T
���
/��5
/�0557� 
0/��) .)M GI EJ�) C''X) (* \)

+') JA��05��O)�) J48��	/1 ��5
0���/	�5�? 	5/0���4T>		 5�
80�
�m3��4H57� 
0/���) .)M GI EJ�) C''X) (, \)

+*) éëÓØ×ÔÜüõ)ó) ÞÒØÑÍBçØï×Ø éíòÜØÒÍÎÛ Üæ ÝÜÔÑ×ØäÓÍÒä× ÊÔÍ×ØÖÜBíÓÍÒÜÔ ÜÔ ø×îÓÎ×ïØÓí à×ÑÎ×Ñ��ÊÔM ðÓÖÓïÜÖÜíÜÐÑð)6 ÙÜÔÒ õ)6
øÓÐÑ×Ø Õ)6 èÒÑÛÓÔð)6 ùÎÜÛÖÑÜÔ Õ) r×ïÑ)s ðØÜá××ïÒÔòÑ Üæ ÍÎ×
DÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá× ÜÔ óÐÛ×ØÒáÓí öØÒï ö×Ô×ØÓÍÒÜÔ6
ÙÓÔ ÕÜÑ×6 ÝÓíÒæÜØÔÒÓ6 *C-*( ÕÐÔ× C''() õÒØÛÒÔòÎÓÛ6 éíÓñÓÛÓM
ÊÔÍ×ØÔÓÍÒÜÔÓí ÙÜáÒ×ÍÚ Üæ öØÒï ö×Ô×ØÓÍÒÜÔ) ÖÖ) +-*C)

+C) JA��05��O)�) LF �35�1 �48��	/10 ��
/��05	T �08�4T�57�
80�
�m3��4H57� 
0/����Ì0A	
7) .�/0�	�47 ËÊÉ .0Q3�5�B
��35�? q�5@0�05>		 �� G72	
4	/04H5�? .0��5	�0 	 \���0B
105571 R�	�4�3571 R��8��11571 \	
/01�1 rG.\RR\-
C''(s) C(-+* 1�T C''() J4�l/�) .)M G�A��
��T �5	8�) C''()
\) +*-+C)

++) JA��05��O)�) G��	�>	�557? 10/�3 ��5
/��	����5	T �08�B
4T�57� 80�
�m3��4H57� 
0/�� 
 �����405	01 @��17 T20B
0���Ì0A	
7) ÉÊÊÊ .0Q3�5���35�T q�5@0�05>	T ­V�F�F��	5B

�	0 ���2570 ¸/05	T­) (-*' 
05/TF�T C''() \50Q	5
�)
\) C*X-C*[)

+Z) JA��05��O)�) L ��
20/0 /0205	? 8�A� 
 30/�5�>	�5571	 ��4B
5�1	 5� ��3�	Q57� �3��/	�57� 
0/�����Ì��37 G
0��

	?B

��? ��5@0�05>		 ­R�	�4�35�T 80�10/�	T6 ��
/��05	0 ��
B
20/57� 
0/�� 	 �7
������	A��3	/04H570 �72	
405	T­6 GI
EJ�) .�
���) C, 	k5T - *	k4T C''Z) Ì) *) \) ,[-DX)

+() JA��05��O)�) L ��
20/0 30/�5�>	�557� ��45 5� �3��/	�57�

0/�����Ì0A	
7) ZBT .0Q3�5���35�T ���4�-\01	5�� ­G5�/B+D



�	��10�570 ���>0

76 8��05	0 	 8�A���T 3	5�1	�� 3	
�0�
B
57� 
	
/01­6 O�4/	?
�	? 8�
) �5	�0�
	/0/ G�0510�)
\)-R0/0�F��8) C[ 	k5T - + 	k4T C''Z) Ì) C) \) *('-*(C)

+X) JA��05��O)�) .�304	����5	0 ��
���
/��505	T 30/�5�>	�5B
57� ��45 
 	
��4HA���5	01 �3��/	�57� ��3�	Q57� 
0B
/����Ì0A	
7) .�/0�	�47 É .0Q3�5���35�? q�5@0�05>		 ��
�0���5��0
571 R��>0

�1 � \��4�� 	 \/��T� róðóÕ-C''Zs)(-*' 	k4T C''Z) \�1���) \) *[-*,)

+[) JA��05��O)�) q�5
0���/	�5�T 	5/0���4T>	T 8	3��3	5�1	B
20
�	� ����10/��� ��	 ��
20/�� 5� 80�
�m3��4H57� 
0/B
�����Ì0A	
7) .�/0�	�47 É .0Q3�5���35�? q�5@0�05>		 ��
�0���5��0
571 R��>0

�1 � \��4�� 	 \/��T� róðóÕ-C''Zs)(-*' 	k4T C''Z) \�1���) \) *,-*D)

+,) JA��05��O)�) L ��5
0���/	�5�? 	5/0���4T>		 8�A�3	5�1	B
20
�	� ����10/��� 5� 80�
�m3��4H57� 
0/�����Ì0A	
7 3��4�B
3� 5� ËÉ G
0��

	?
��? q�5@0�05>		 ­Ì0��0/	20
�	0 �
5�B
�7 	 ��5
/��	����5	0 2	
40557� �48��	/1�� 34T �0l05	T
A�3�2 1�/01�/	20
��? @	A	�	 
 ��	4�Q05	01 � 15�8����B
>0

��571 
	
/01�1­��
�TS055�T ��1T/	 q)P)O�F05��) ,-**

05/TF�T C''Z) Kk�
�) \) Z-()

+D) JA��05��O)�) E�
20/ /0205	? 
 30/�5�>	�5571	 ��45�1	 5�
��3�	Q57� �3��/	�57� 
0/�����Ì0A	
7) ÉÊÊ .0Q3�5���35�T
q�5@0�05>	T ­V�F�F��	5
�	0 ���2570 ¸/05	T­) ,-*C 
05/TFB
�T C''+) \50Q	5
�) \) **(-**X)

Z') JA��05��O)�) J48��	/1 ��5
0���/	�5�? 	5/0���4T>		 8�A�B
3	5�1	20
�	� ��40? 5� 80�
�m3��4H57� 
0/�����Ì0A	
7) ÉÊÊ
.0Q3�5���35�T q�5@0�05>	T ­V�F�F��	5
�	0 ���2570 ¸/0B
5	T­6 ,-*C 
05/TF�T C''+) \50Q	5
�) \) **Z-**()

Z*) éëÓØ×ÔÜüõ)ó) àÜäÒÔò ÓïÓÖÍÒä× Û×ÑÎ×Ñ ÓÔï ÍÎ×ÒØ ÓÖÖíÒáÓÍÒÜÔ ÒÔ
ÎÚÖ×ØñÜíÒá ÖØÜñí×ÛÑ Üæ òÓÑ ïÚÔÓÛÒáÑ��éñÑÍØÓáÍ Üæ ÊÊÊ ÊÔÍ×ØÔ)

Z'



÷ÜØüÑÎÜÖ ÜÔ ÙáÒ×ÔÍÒæ) ÝÜÛÖÐÍ) ÓÔï éÖÖíÒáÓÍÒÜÔÑ) ÝÒÍÚ åÔÒä×ØÑÒÍÚ
Üæ øÜÔò ôÜÔò) ÕÓÔ) X-D) C''+)

ZC) éëÓØ×ÔÜüõ)ó) éÖÖíÒáÓÍÒÜÔ Üæ àÜäÒÔò éïÓÖÍÒä× à×ÑÎ×Ñ ÒÔ
øÚÖ×ØñÜíÒá ðØÜñí×ÛÑ Üæ öÓÑ ßÚÔÓÛÒáÑ��ðØÜá××ïÒÔòÑ Üæ ÍÎ×
âÜØüÑÎÜÖ ­öØÒï ö×Ô×ØÓÍÒÜÔM ùÎ×ÜØÚ ÓÔï éÖÖíÒáÓÍÒÜÔÑ­) àÜÑáÜâ6
ÕÐÔ× CZ-C,6 C''C) ÝÜÛÖÐÍÒÔò Ý×ÔÍ×Ø ÏÐÑÑÒÓÔ éáÓï×ÛÚ Üæ
ÙáÒ×Ôá×Ñ6 ð) *+(-*ZZ)

Z+) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) àÜäÒÔò éïÓÖÍÒä× à×ÑÎ×Ñ ÓÔï
öÜïÐÔÜäêÑ ÙáÎ×Û×��éñÑÍØÓáÍÑ Üæ DÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá× ÜÔ
øÚÖ×ØñÜíÒá ðØÜñí×ÛÑ6 ùÎ×ÜØÚ6 óÐÛ×ØÒáÑ6 éÖÖíÒáÓÍÒÜÔÑ) ÝÓíÒæÜØÔÒÓ
ÊÔÑÍÒÍÐÍ× Üæ ù×áÎÔÜíÜòÚ) ðÓÑÓï×ÔÓ) ÝÓíÒæÜØÔÒÓ) àÓØáÎ C(-CD) C''C)
ð) *(+-*(Z)

ZZ) éëÓØ×ÔÜüõ)ó)6 ùÓÔòù) éïÓÖÍÒä× Û×ÑÎ Ø×ïÒÑÍØÒñÐÍÒÜÔ Û×ÍÎÜï ÒÔ
ÎÚÖ×ØñÜíÒá ÖØÜñí×ÛÑ Üæ òÓÑ ïÚÔÓÛÒáÑ��ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá×
ÜÔ ÙáÒ×ÔÍÒìá ÝÜÛÖÐÍÒÔò ÓÔï ðÓØÍÒÓí ßÒú×Ø×ÔÍÒÓí èûÐÓÍÒÜÔÑ) õÜÜü
Üæ éñÑÍØÓáÍÑ) øÜÔò ôÜÔò õÓÖÍÒÑÍ åÔÒä×ØÑÒÍÚ) ß×á×Ûñ×Ø *C-*()
C''C) ð) D-*')

Z() JA��05��O)�) q ��
20/� 3��10�57� /0205	? 8�A� 5� �3��B
/	�57� ��3�	Q57� 
0/�����Ì0A	
7 3��4�3� 5� ÊË G
0��

	?B

��1 
��0S�5		 �� ���F401�1 ��
/��05	T 
0/�� 34T �0l05	T
A�3�2 1�/01�/	20
��? @	A	�	) ,-** 
05/TF�T C''C) Kk�
�)
\) Z-()

ZX) éëÓØ×ÔÜüõ)ó) éïÓÖÍÒä× ÛÜäÒÔò òØÒïÑ ÒÔ ÖØÜñí×ÛÑ Üæ òÓÑ
ïÚÔÓÛÒáÑ6 öØÒï ö×Ô×ØÓÍÒÜÔM ó×â ùØ×ÔïÑ ÓÔï éÖÖíÒáÓÍÒÜÔÑ ÒÔ
Ï×ÓíB÷ÜØíï ÙÒÛÐíÓÍÒÜÔÑ6 Ù)é)ÊäÓÔ×ÔüÜ ×Í Óí) rèïÑ)s��ðØÜá××ïÒÔòÑ
Üæ ÍÎ× ÛÒÔÒÑÒÛÖÜÑÒÐÛ ÒÔ ÊÔÍ×ØÔ) ÝÜÔæ×Ø) ­çÖÍÒÛÒëÓÍÒÜÔ Üæ ìÔÒÍ×B
×í×Û×ÔÍ ÓÖÖØÜîÒÛÓÍÒÜÔÑ6 ÑÖíÒÔ×Ñ ÓÔï âÓä×í×ÍÑ­6 ÙÍ)Bð×Í×ØÑñÐØò6ÕÐÔ× C(-CD6 C''*) ð) +'-ZZ)

Z[) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) àÜäÒÔò òØÒï Í×áÎÔÜíÜòÚ æÜØ ÑÎÜáü
âÓä×Ñ ÑÒÛÐíÓÍÒÜÔ��éñÑÍØÓáÍÑ Üæ [ÍÎ ÏÐÑÑÒÓÔBÕÓÖÓÔ×Ñ× ÊÔÍ×ØÔ)

Z*



ÙÚÛÖÜÑ) ÜÔ ÝÞß6 ÕÐíÚ +*-éÐò) X6 C'''6 ÏÐÑÑ) éáÓï) Üæ ÙáÒ×Ôá×6
àÜÑá) ãÜÛÜÔÜÑÜä åÔÒä×ØÑÍÚ)

Z,) éëÓØ×ÔÜüõ)ó) éïÓÖÍÒä× àÜäÒÔò öØÒïÑ ÒÔ ÙÐÖ×ØÑÜÔÒá ÞíÜâ
ÙÒÛÐíÓÍÒÜÔ�óÐÛ×ØÒáÓí öØÒï ö×Ô×ØÓÍÒÜÔ ÒÔ ÝÜÛÖÐÍÓÍÒÜÔÓí ÞÒ×íï
ÙÒÛÐíÓÍÒÜÔÑ6 ðØÜá××ïÒÔòÑ Üæ ÍÎ× [ÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÝÜÔæ×Ø×Ôá×6
Ù×ÖÍ×Ûñ×Ø C(BC,6 C'''6 ÷ÎÒÑÍí×Ø6 õØÒÍÒÑÎ ÝÜíÐÛñÒÓ) èïÒÍ×ï ñÚ
õ)ô) ÙÜÔÒ6 Õ) øÓ×ÐÑ×Ø6 Õ)Þ) ùÎÜÛÖÑÜÔ6 ð) èÒÑ×ÛÓÔ) ð) XCD-X+,)

ZD) éëÓØ×ÔÜüõ)ó) éÖÖíÒáÓÍÒÜÔ Üæ ÓïÓÖÍÒä× ÛÜäÒÔò òØÒïÑ æÜØ ÑÒÛÐíÓ
ÍÒÜÔ Üæ ÑÐÖ×ØÑÜÔÒá òÓÑ �Üâ ÒÔ áÎÓÔÔ×í��éñÑÍØÓáÍÑ Üæ ÍÎ× CÔï
ÊÔÍ×ØÔ) ÝÜÔæ×Ø) éÖÖíÒ×ï àÓÍÎ×ÛÓÍÒáÑ æÜØ ÊÔïÐÑÍØÒÓí ÞíÜâÑ6 *C-*Z
çáÍ)6 C'''6 ÝÒÜááÜ6 ÊÍÓíÚ) ð) C()

(') éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) øÚÖ×ØÑÜÔÒá �Üâ ÑÒÛÐíÓÍÒÜÔ ñÓÑ×ï
ÜÔ ÛÜäÒÔò òØÒï Í×áÎÔÜíÜòÚ��éñÑÍØÓáÍÑ Üæ ÍÎ× *ÑÍ ÊÔÍ×ØÔ)
ÝÜÔæ×Ø×Ôá× ÜÔ ÝÞß6 *'-*Z ÕÐíÚ6 C''') ôÒÜÍÜ) ÕÓÖÓÔ)

(*) éëÓØ×ÔÜüõ)ó) Ù×áÜÔïBÜØï×Ø öÜïÐÔÜäêÑ Û×ÍÎÜï æÜØ ÑÐÖ×ØÑÜÔÒá
ÖØÜñí×ÛÑ��éñÑÍØÓáÍÑ Üæ ÍÎ× *ÑÍ ÊÔÍ×ØÔ) ÝÜÔæ×Ø×Ôá× ÜÔ ÝÞß6 *'-*Z
ÕÐíÚ6 C''') ôÒÜÍÜ) ÕÓÖÓÔ)

(C) JA��05��O)�) L ���	�>	�55�1 F��H0�5�1 10/�30 ��
/��05	T

0/�� ��	 �0l05		 8	�0�F�4	20
�	� A�3�2 8�A���? 3	5�1	B
�	��Ì0A	
7 3��4) 5� ÉÊÊÊ G
0��

	?
��1 
��0S�5		 �� ���BF401�1 ��
/��05	T 
0/�� 34T �0l05	T A�3�2 1�/01�/	20
��?
@	A	�	) R�S	5�) C*-C, 	k4T) C''')

(+) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) àÜäÒÔò òØÒï Í×áÎÔÜíÜòÚ æÜØ ìB
ÔÒÍ× äÜíÐÛ× Û×ÍÎÜïÑ ÒÔ òÓÑ ïÚÔÓÛÒáÑ��ÊÔM ÞÒÔÒÍ× ÉÜíÐÛ×Ñ
æÜØ ÝÜÛÖí×î éÖÖíÒáÓÍÒÜÔÑ ÊÊ - ðØÜñí×ÛÑ ÓÔï ð×ØÑÖ×áÍÒä×Ñ6Ï)ÉÒíÑÛÓ×Ò×Ø6 Þ)õ×ÔüÎÓíïÜÐÛ ÓÔï ß)øÓÔ×í rèïÑ)s6 ø×ØÛ×Ñ6 *DDD6
[D(-,'C)

(Z) éëÓØ×ÔÜüõ)ó)6 ÊäÓÔ×ÔüÜ Ù)é) àÜäÒÔò öØÒï ù×áÎÔÜíÜòÚ æÜØ
ÙÎÜáü ÷Óä×Ñ ÙÒÛÐíÓÍÒÜÔ� ,ÍÎ ÊÔÍ×ØÔÓÍÒÜÔÓí ÙÚÛÖÜÑÒÐÛ ÜÔ

ZC



ÝÜÛÖÐÍÓÍÒÜÔÓí ÞíÐÒï ßÚÔÓÛÒáÑ6 õØ×Û×Ô6 ö×ØÛÓÔÚ6 (-*'
Ù×ÖÍ×Ûñ×Ø6 *DDD)

(() JA��05��O)�) L 
�010 \)q)N�3�5��� �/���8� ���T3�� ��B����
	1�>		��Ì0A	
7 3��4�3� 5� ËÊÊ G
0��

	?
��? ­Ì0�B
�0/	20
�	0 �
5��7 	 ��5
/��	����5	0 2	
40557� �48��	/B
1�� 34T �0l05	T A�3�2 1�/01�/	20
��? @	A	�	­ ��1T/	
q)P)O�F05��6 D-*+ 
05/) *DD,6 ������

	?
�6 Kk�
�)

(X) éëÓØ×ÔÜüõ)ó) Ï×ÓíÒëÓÍÒÜÔ Üæ Ó Ù×áÜÔïBçØï×Ø öÜïÐÔÜäêÑ
à×ÍÎÜï��ÝÜÔæ×Ø×Ôá× ÜÔ óÐÛ×ØÒáÓí à×ÍÎÜïÑ æÜØ ÞíÐÒï ßÚÔÓÛÒáÑ6
+* àÓØáÎ - + éÖØÒí *DD,6 åÔÒä×ØÑÒÍÚ Üæ çîæÜØï6 åô)

([) JA��05��O)�) LF �35�? �0�4	A�>		 
�017 \)q) N�3�5��� �7B

���8� ���T3�� ������
	1�>		) .)M GI EJ�) *DD[) CC \)

Z+


